August 2020

MTA - NEW YORK CITY TRANSIT
2 BROADWAY
NEW YORK, N.Y. 10004
BID RECEPTION DESK

MTA - New York City Transit is hereby giving notice to vendors the list of items on the aforementioned Omnibus Sole Source
Approval. This list of items consists of goods and/or service purchased by New York City Transit available only from a single
manufacturer.

MTA OMNIBUS SOLE SOURCE APPROVAL

ALSTOM TRANSPORTATION INC

TRACTION MOTOR, PROPULSION CONTROLLER, AND CAR BODY
PARTS FOR SUBWAY CARS

PROCUREMENT UNIT: 100




USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

0001

STOCK NO

05-37-3210

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CABLE, LIGHT/TEMP SENSOR, R160 SDS

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

CITY TRANSTIT

INFORMAT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

1
03/18/2020

1.01.00

USE YTD

08-42-5007

FILTER, LOUVRED VENT CASE

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5008

CONTACTOR, CAPACITOR DISCHARGE,

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

CONTACTOR PANEL

EA

MFG - PART-NO

08-42-5009

CONTACTOR, CAPACITOR CHARGING, CONTROL

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5011

HIGH SPEED CIRCUIT BREAKER ASSEMBLY,

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

COMPLETE

EA

MFG - PART-NO

08-42-5012

ELECTRO-MAGNET, H S C B

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

01

00

00

00

00

05



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0007

STOCK NO

08-42-5018

ALST2020

LONG DESCRIPTION

N EW Y O RK

COMMODTITY

CITY TRANOSTIT

MANAGEMENT

AUTHORITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

MEFG - NAME

ALSTOM TRANSPORTATION

U/M

EA

MFG - PART-NO

2
03/18/2020

1.01.00

USE YTD

08-42-5019

FUSE, MAIN
QPL CODE
_&_ __;_
CONTROL,

QPL CODE
_&_ __;_

CIRCUIT M C B

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5020

AGATE ASSY R142 PROPULSION CONTROL

ELECTRONICS BOX (PCE)

EA

MFG - PART-NO

08-42-5021

EA

MFG - PART-NO

08-42-5022

EA

MFG - PART-NO

08-42-5023

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
CASE, PROPULSION, TRUCK 1

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
CASE, PROPULSION, TRUCK 2

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
MODULE, INVERTER-BRAKING

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

03

00

21

00

00

00



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

0013

STOCK NO

08-42-5024

N EW Y O RK

ALST2020

CITY TRANSTIT

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

MODULE, RAILGAP

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

3
03/18/2020

1.01.00

USE YTD

08-42-5027

DIODE (RAILGAP MODULE)

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5032

BOARD, C O D A, AGATE CONTROL UNIT

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5033

BOARD, I N Y, AGATE CONTROL UNIT

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5034

BOARD, T N Y, AGAGE CONTROL UNIT

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5035

BOARD, R 3 L, AGATE CONTROL UNIT

QPL CODE MEFG - NAME

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

02

00

00

00

00

02



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0019

STOCK NO

08-42-5036

ALST2020

LONG DESCRIPTION

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

RCAP, AGATE CONTROL UNIT

MEFG - NAME

ALSTOM TRANSPORTATION

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

4
03/18/2020

1.01.00

USE YTD

08-42-5037

AGATE CONTROL UNIT

MEFG - NAME

EA

MFG - PART-NO

08-42-5038

AGATE CONTROL UNIT

MEFG - NAME

EA

MFG - PART-NO

08-42-5039

AGATE CONTROL UNIT

MEFG - NAME

EA

MFG - PART-NO

08-42-5040

EA

MFG - PART-NO

08-42-5041

BOARD,

QPL CODE
N P
BOARD, RC13,
QPL CODE
N P
BOARD, I C A P,
QPL CODE
N P
BOARD, A A L 2,
QPL CODE
N P
BOARD, P A L 2
QPL CODE
N P
BOARD, C A L 2,
QPL CODE
N P

AGATE CONTOL UNIT

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

01

02

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0025

STOCK NO

08-42-5042

ALST2020

N EW Y O RK

CITY TRANSTIT

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

BOARD,

QPL

FICO, AGATE CONTROL UNIT

CODE

P ALSTOM TRANSPORTATION

MEFG - NAME

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

5
03/18/2020

1.01.00

USE YTD

08-42-5043

BOARD,

QOPL

IVIT, AGATE CONTROL UNIT

CODE MEFG - NAME
P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5044

BOARD,

QPL

ATIMP, AGATE CONTROL UNIT

EA

MFG - PART-NO

08-42-5045

BOARD,

QOPL

CODE MEFG - NAME
P ALSTOM TRANSPORTATION
D 32, AGATE CONTROL UNIT
CODE MEFG - NAME
P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5046

BOARD,

QPL

M32B, AGATE CONTROL UNIT

EA

MFG - PART-NO

08-42-5047

BOARD,

QPL

CODE MFG - NAME
P ALSTOM TRANSPORTATION
CATI, AGATE CONTROL UNIT
CODE MEFG - NAME
P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

01

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0031

STOCK NO

08-42-5048

ALST2020

N EW Y O RK

CITY

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

BOARD,

QPL

SACO, AGATE CONTOL UNIT

CODE

P ALSTOM TRANSPORTATION

MEFG - NAME

TRANGSTIT

MANAGEMENT

AUTHORITY

SYSTEM

U/M

EA

MFG - PART-NO

6
03/18/2020

1.01.00

USE YTD

08-42-5049

BOARD,

QOPL

MFAL, AGATE CONTROL UNIT

EA

MFG - PART-NO

08-42-5050

BOARD,

QPL

EA

MFG - PART-NO

08-42-5051

BOARD,

QOPL

CODE MEFG - NAME
P ALSTOM TRANSPORTATION
G E X T, AGATE CONTROL UNIT
CODE MEFG - NAME
P ALSTOM TRANSPORTATION
EBT2, AGATE CONTROL UNIT
CODE MEFG - NAME
P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5052

BOARD,

QPL

E S A L, AGATE CONTROL UNIT

CODE MFG - NAME
P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5053

BOARD,

QPL

IREL, AGATE CONTROL UNIT

CODE

P ALSTOM TRANSPORTATION

MEFG - NAME

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

01



USER-ID : SPT
FILE-ID : ALST2020
PROG-ID : €

REC# STOCK NO

0037

08-42-5054

LONG DESCRIPTION

BOARD, V A F F,

QPL

CODE

N EW Y O RK

COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

AGATE CONTROL UNIT

MEFG - NAME

U/M

EA

MFG - PART-NO

5
03/18/2020

1.01.00

USE YTD

08-42-5055

BOARD, E X N Y,

QOPL

CODE

AGATE CONTROL UNIT

MEFG - NAME

EA

MFG - PART-NO

08-42-5056

BRAKE UNIT LINE

QPL

CODE

P

BOARD, EELCTRONIC PANEL

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

TRVC070084000 REV "E"

08-42-5057

BOARD,

QOPL

INTERFACE,

CODE

P

PC, A, AGATE CONTROL

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5058

BOARD,

QPL

INTERFACE,

CODE

P

PC, B AGATE CONTROL

MFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5059

BOARD,

QPL

INTERFACE,

CODE

P

PC, C, AGATE CONTROL

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

01

01

01

00

00



USER-ID : SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 8
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD
0043 08-42-5060 BOARD, D, INTERFACE PC, AGATE CONTROL UNIT EA 05 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. EA50AY-001
0044 08-42-5061 DRIVE, GATE, CALIX, PCB SUGGESTED ALTERNATE STOCH NUMBER EA 15 02 11-
08-42-5085
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. EA50AT-001
0045 08-42-5066 ASSEMBLY, CONTACTOR AREA ACCESS COVER, TRUCK PROPULSION CASE, TRUCK 1&2 EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159-4928
0046 08-42-5069 ASSEMBLY, COVER, ACCESS, HV HSCB TRUCK PROPULSION CASE, TRUCK 2 EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4936
0047 08-42-5072 CHUTE, ARC, HSCB EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO



USER-ID SPT NEW Y O R K CITY TRANSTIT AUTHORTITY PAGE 9
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00

MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY?2 USE PYl USE YTD
0048 08-42-5074 CHUTE, ARC, CAPACITOR CHARGING EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 100005
0049 08-42-5075 CHUTE, ARC, TRUCK ISOLATION EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 8640036
0050 08-42-5081 CAPACITOR, BANK ASSEMBLY EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O009404002-A
0051 08-42-5083 PANEL ASSEMBLY, WITH CAPACITOR AND RELAYFOR HIGH SPEED CIRCUIT BREAKER ASSEMBLY EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0009403399-A
0052 08-42-5085 POWER SUPPLY, CALIX PANEL SUGGESTED ALTERNATE STOCK NUMBER EA 00 00 00
08-42-5061
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0009404054
0053 08-42-5114 REAR ACCESS COVER ASSY, TRUCK PROPULSION CASE, TRUCK 1 & 2 EA 00 00 00

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION INC.

MFG - PART-NO



USER-ID : SPT
FILE-ID : ALST2020
PROG-ID : €

REC# STOCK NO

0054

08-42-5115

N EW Y O RK

COMMODTITY

CITY TRANOSTIT

MANAGEMENT

AUTH

ORITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

AGATE AREA ACCESS COVER ASSY, TRUCK

QPL

CODE

MEFG - NAME

PROPULSION CASE,

TRUCK 1 & 2

MFG

U/M

EA

- PART-NO

10
03/18/2020

1.01.00

USE YTD

08-42-5117

ACCESS

QOPL

COVER,

CODE

TOP, INPUT INDUCTOR

MEFG - NAME

ASSEMBLY

08-42-5118

ACCESS

QPL

COVER,

CODE

SIDE, INPUT INDUCTOR

MEFG - NAME

ASSEMBLY

08-42-5119

ACCESS

QOPL

COVER,

CODE

BOTTOM, INPUT INDUCTOR

MEFG - NAME

ASSEMBLY

08-42-5120

ACCESS

QPL

COVER,

CODE

FRONT, INPUT INDUCTOR

MFG - NAME

ASSEMBLY

08-42-5121

ACCESS

QPL

COVER,

CODE

P

REAR, INPUT INDUCTOR

MEFG - NAME

ALSTOM TRANSPORTATION

ASSEMBLY

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0060

STOCK NO

08-42-5231

N EW

ALST2020
COMMODTITY

LONG DESCRIPTION

Y O RK CITY TRANSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

THORTITY

Y STEM

U/M

AIR, INLET,
QPL CODE
N P

GRID

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

11
03/18/2020

1.01.00

USE YTD

08-42-5232

AMIX SUPPORT ASSEMBLY

QOPL CODE
N P

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5233

AMIX, GATE DRIVE

QPL CODE
N P

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5234

AUXILIARY CONTACT,

QOPL

N P

CODE

C.A.B.L.5-1

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5235

AUXILIARY CONTACT,

MFG - NAME

ALSTOM TRANSPORTATION INC.

PLATE ASSEMBLY C.A.B.L.5-1

EA

MFG - PART-NO

08-42-5237

QPL CODE
N P
BACKPLANE,

QPL CODE
N P

SUPPORT BRACKET

MEFG - NAME

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

697

00

05



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0066

STOCK NO

08-42-5238

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

BAR CLAMP ASSEMBLY

QPL

N P

CODE

MEFG - NAME

ALSTOM TRANSPORTATION

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

12
03/18/2020

1.01.00

USE YTD

08-42-5239

BAR CLAMP, ASSEMBLY

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5240

BAR, C.A.B.L.

EA

MFG - PART-NO

08-42-5241

EA

MFG - PART-NO

08-42-5242

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
BAR, CODE, LABEL

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
BAR, GUIDE

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
N P ALSTOM TRANSPORTATION

INC.
INC.

EA

MFG - PART-NO

6639802
DTR0000058587-D

PAGE
DATE
VERSION

USE PY1

00

00

05

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0071

STOCK NO

08-42-5243

ALST2020

LONG DESCRIPTION

N EW Y O RK

CITY TRANSTIT

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

MEFG - NAME

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

13
03/18/2020

1.01.00

USE YTD

08-42-5244

BASE PLATE
QPL CODE
N P

BASE PLATE
QOPL CODE

EA

MFG - PART-NO

08-42-5245

N P
BASEPLATE
QPL CODE

EA

MFG - PART-NO

08-42-5246

EA

MFG - PART-NO

08-42-5247

N P
BASEPLATE

QOPL CODE

N P
BASEPLATE, C.A.B.
QPL CODE

L.5-1

MFG - NAME

EA

MFG - PART-NO

08-42-5248

N P
BATTERY, HOLDER
QPL CODE

N P

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT NEW Y O R K CITY TRANSTIT AUTHORTITY PAGE : 14
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0077 08-42-5252 BLANCKING, PLATE EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0009404020-A

0078 08-42-5253 BLOCK, ELECTRO-MAGNET MOUNTING EA 05 03 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0009113207

0079 08-42-5254 BOARD, DOUBLE CIRCUIT RD80O EA 03 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTRO000098626-A

0080 08-42-5255 BRACE, COLUMN, EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC TRV3036331000

0081 08-42-5256 BRACKET, CONNECTOR EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000091604-A

0082 08-42-5257 BRACKET, GUIDE EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. DTR0000091460-A



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0083

STOCK NO

08-42-5258

N EW

ALST2020
COMMODTITY

LONG DESCRIPTION

Y O RK

BRACKET,

QPL

CITY TRANGSTIT

MANAGEMENT

MATERIAL STANDARDS USAGE REPORT

MOUNTING

AUTHORITY

SYSTEM

U/M

EA

MFG - PART-NO

15
03/18/2020

1.01.00

USE YTD

08-42-5259

BRACKET,

QOPL

HIGH SPEED CIRCUIT BREAKER,
CODE MEFG - NAME

__;_ gigégé_;ggNSPORTATION
MOUNTING

CODE MEFG - NAME

P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5260

BRACKET,

QPL

MOUNTING, BURNDY CONNECTOR

EA

MFG - PART-NO

08-42-5261

BRACKET,

QOPL

CODE MEFG - NAME

P ALSTOM TRANSPORTATION
RESTRAINING
CODE MEFG - NAME

P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5263

BRACKET,

QPL

SAFETY CATCH

CODE MFG - NAME
P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5264

BRACKET,

QPL

SUPPORT, EXT1 - B SPREY POINTS

CODE

P ALSTOM TRANSPORTATION

MEFG - NAME

INC.

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0089

STOCK NO

08-42-5265

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

16
03/18/2020

1.01.00

USE YTD

08-42-5266

BRACKET, SUPPORT, EXT1 H SPREY POINTS
QPL CODE MFG - NAME

_&_ __;_ gigégé_;ggNSPORTATION
BRACKET, SWITCH, MCB

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5267

BRAID, FLEXIBLE COPPER

EA

MFG - PART-NO

08-42-5268

EA

MFG - PART-NO

08-42-5269

EA

PART-NO

08-42-5270

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
BUMPER

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
BUSBAR

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
BUSBAR

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

EA

PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

01

00

00

00



USER-ID : SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 17
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0095 08-42-5271 BUSBAR EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4788

0096 08-42-5272 BUSBAR EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4789

0097 08-42-5273 BUSBAR EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4847

0098 08-42-5274 BUSBAR EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4911

0099 08-42-5275 BUSBAR EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0009404042-A

0100 08-42-5276 BUSBAR EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO



USER-ID SPT NEW Y O R K CITY TRANSTIT AUTHORTITY PAGE : 18
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY?2 USE PYl USE YTD
0101 08-42-5277 BUSBAR EA 00 00 04
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000093682
0102 08-42-5278 BUSBAR EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4971
0103 08-42-5279 BUSBAR, 3 PHASE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4946
0104 08-42-5280 BUSBAR, 3 PHASE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4947
0105 08-42-5281 BUSBAR ASSEMBLY EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 273208
0106 08-42-5282 BUSBAR, LAMINATED, FOR CAPACITOR BANK  ASSEMBLY EA 176 115 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0009404047



USER-ID
FILE-ID

PROG-ID : €

SPT

ALST2020

LONG DESCRIPTION

N EW Y O RK

CITY TRANSTIT

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

INC.
INC.

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

DTR0009404048
EC24AE-002

PAGE : 19

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

fEcr e e

0107 08-42-5283
0108 08-42-5284
0109 08-42-5285
0110 08-42-5287
0111 08-42-5288

BUSBAR, LAMINATED

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
N P ALSTOM TRANSPORTATION
BUSBAR, LAMINATED

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
BUSBAR, TERMINAL

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
CABLE (A)

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
CABLE, (B)

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

DATE 03/18/2020
VERSION 1.01.00
USE PY?2 USE PYl USE YTD
05 03 00
18 19 03
00 00 00
20 00 00
20 00 00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0112

STOCK NO

08-42-5289

ALST2020

LONG DESCRIPTION

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

20
03/18/2020

1.01.00

USE YTD

08-42-5290

CABLE (C)

QPL CODE
N P
CABLE, DISPLAY
QPL CODE

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5291

MEFG - NAME

EA

MFG - PART-NO

08-42-5292

EA

MFG - PART-NO

08-42-5293

EA

PART-NO

08-42-5294

N P
CABLE, LINK, EXTI1-EXT2
QPL CODE

N P
CABLE, TIE
QOPL CODE

N P
CABLE, TRAY
QPL CODE

N P
CABLE, TRAY
QPL CODE

N P

EA

PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 21
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0118 08-42-5295 CABLE, TRAY EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4885

0119 08-42-5296 CABLE, TRAY EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4887

0120 08-42-5297 CALIX, MOUNTING, BRACKET EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4886

0121 08-42-5298 CAM EA 07 02 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000018513

0122 08-42-5299 CAPACITOR EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC S4509115P4796-A

0123 08-42-5301 CAPACITOR, 0805 HF 63V 100PF 5 PERCENT SMD (C2) EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. S4509920P1699



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0124

STOCK NO

08-42-5302

ALST2020

N

E

W Y O RK CITY TRANSTIT AU

COMMODTITY MANAGEMENT

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CAPACITOR, CE13L 100V 220PF 5 PERCENT

QPL

N P

CODE

(B3)

MEFG - NAME

ALSTOM TRANSPORTATION INC.

THORTITY

SYSTEM

U/M

EA

MFG - PART-NO

22
03/18/2020

1.01.00

USE YTD

08-42-5303

CAPACITOR, CEC2

QOPL CODE
N P

EA

MFG - PART-NO

08-42-5304

CAPACITOR, CEC2

QPL CODE
N P

EA

MFG - PART-NO

08-42-5305

CAPACITOR, CEC2

QOPL

CODE

EA

MFG - PART-NO

08-42-5306

CAPACITOR, CECZ2

QPL CODE
N P

EA

MFG - PART-NO

08-42-5307

CAPACITOR, CEC2

CODE

QPL

N P

100V 100PF 5 PERCENT SMD (B2)
MFG - NAME

ALSTOM TRANSPORTATION INC.
100V 10PF 5 PERCENT SMD (C4)
MFG - NAME

ALSTOM TRANSPORTATION INC.
100V 22PF 5 PERCENT SMD (B4)
MFG - NAME

ALSTOM TRANSPORTATION INC.
100V 4.7PF 11 PERCENT SMD (C3)
MFG - NAME

ALSTOM TRANSPORTATION INC.
100V 47PF 5 PERCENT SMD (A3)

MEFG - NAME

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

ALST2020

N

E

W

COMMODTITY

Y O RK CITY TRANOSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CAPACITOR, CEC2 63V 1000PF 5 PERCENT

QPL

CODE

MEFG - NAME

SMD (B1)

THORITY

Y STEM

U/M

EA

MFG - PART-NO

23
03/18/2020

1.01.00

USE YTD

CAPACITOR, CN31

QOPL CODE
N P

100V 100NF 10 PERCENT

MFG - NAME

EA

MFG - PART-NO

CAPACITOR, CN31

QPL CODE
N P

100V 10NF 10 PERCENT

MEFG - NAME

EA

MFG - PART-NO

CAPACITOR, CNC12

QOPL

CODE

63V 100NF 10 PERCENT

MEFG - NAME

SMD (B3)

EA

MFG - PART-NO

CAPACITOR, CNC12

QPL CODE
N P

63V 22NF 10 PERCENT

MFG - NAME

EA

MFG - PART-NO

fEcr e e

0130 08-42-5308
0131 08-42-5309
0132 08-42-5310
0133 08-42-5311
0134 08-42-5312
0135 08-42-5313

CAPACITOR, CNC12

QPL

CODE

63V 47NF 10 PERCENT

MEFG - NAME

SMD (C5)

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0136

STOCK NO

08-42-5314

N EW Y O RK

ALST2020

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CAPACITOR, CNC2

QPL

N P

CODE

63V 10NF 10 PERCENT SMD (C1)

MEFG - NAME

ALSTOM TRANSPORTATION INC.

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

24
03/18/2020

1.01.00

USE YTD

08-42-5315

CAPACITOR, CTC3

QOPL CODE
N P

10V 47UF 20 PERCENT SMD (A5)

MEFG - NAME

EA

MFG - PART-NO

08-42-5316

CAPACITOR, CTC3

QPL CODE
N P

16v 4.7UF 10 PERCENT SMD

MEFG - NAME

(A3)

EA

MFG - PART-NO

08-42-5317

CAPACITOR, CTC3

QOPL

CODE

20V 22UF 20 PERCENT SMD (Al)

MEFG - NAME

EA

MFG - PART-NO

08-42-5318

CAPACITOR, CTC3

QPL CODE
N P

35V 10UF 10 PERCENT SMD (B5)

MFG - NAME

EA

MFG - PART-NO

08-42-5319

CAPACITOR, CTsS1

CODE

QPL

N P

40V 1UF 10 PERCENT (A2)

MEFG - NAME

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0142

STOCK NO

08-42-5320

ALST2020

N

E

W

COMMODTITY

Y O RK CITY TRANSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CAPACITOR, CX 250V 100NF 20 PERCENT (K5)
QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

25
03/18/2020

1.01.00

USE YTD

08-42-5321

CAPACITOR, CY 250V 4.7NF 20 PERCENT (C5)
QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5322

CAPACITOR, RADIAL 10X12X5 63V 47UF

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

(G5)

EA

MFG - PART-NO

08-42-5323

CAPACITOR, RADIAL 10X16X5 35V 220UF (G9)
QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5324

EA

MFG - PART-NO

08-42-5326

CAPACITOR, RADIAL, 12X20X5 100V 100UF (E5)
QPL CODE MFG - NAME

_g_ __;_ AL;;BQ_;EANSPORTATION INC.
CAPSCREW, SOCKET HEAD, 1/4-20 UNC X 1IN LG
QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

PROG-ID : €

SPT

N EW Y O RK

ALST2020
COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CAPSCREW, SOCKET HEAD, 5/16-18 UNC X
QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

3.0 IN LG

U/M

EA

MFG - PART-NO

26
03/18/2020

1.01.00

USE YTD

CARD, GATE SIGNAL

QOPL CODE
N P

MEFG - NAME

EA

MFG - PART-NO

CASING, FLANGED,

QPL CODE
N P

LEFT HAND

MEFG - NAME

EA

MFG - PART-NO

CASING, FLANGED,

QOPL

CODE

RIGHT HAND

MEFG - NAME

EA

MFG - PART-NO

CENTERING, DEVICE S/STEEL

MFG - NAME

EA

MFG - PART-NO

et sk 1o

0148 08-42-5327
0149 08-42-5329
0150 08-42-5330
0151 08-42-5331
0152 08-42-5332
0153 08-42-5333

QPL CODE
N P
CLAMP, CABLE
QPL CODE
N P

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

13

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0154

STOCK NO

08-42-5334

08-42-5335

08-42-5336

08-42-5337

08-42-5338

08-42-5339

ALST2020

LONG DESCRIPTION

CLAMP, CABLE
QPL CODE
_&_ __;_
CLAMP, CABLE
QOPL CODE
_&_ __;_

N EW

COMMODTITY

MEFG - NAME

COMPONENTS SIDE CODA PANEL

QPL CODE
N P

CONNECTION ASSEMBLY, COPPER

QOPL

N P

CODE

CONNECTION ASSEMBLY,

QPL CODE
N P

MEFG - NAME

ALSTOM TRANSPORTATION

MEFG - NAME

ALSTOM TRANSPORTATION

MFG - NAME

ALSTOM TRANSPORTATION

CONNECTION, BRACKET

QPL

N P

CODE

MFG - NAME

ALSTOM TRANSPORTATION

COPPER

Y O RK CITY TRANGSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00

27

03/18/2020
1.01.00

USE YTD



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0160

STOCK NO

08-42-5340

N EW

ALST2020
COMMODTITY

LONG DESCRIPTION

CONNECTION, GROUND

Y O RK CITY TRANSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

28
03/18/2020

1.01.00

USE YTD

08-42-5341

EA

MFG - PART-NO

08-42-5342

EA

MFG - PART-NO

08-42-5343

EA

MFG - PART-NO

08-42-5344

EA

MFG - PART-NO

08-42-5346

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC.

CONNECTOR ASSEMBLY, COPPER

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

CONNECTOR ASSEMBLY, COPPER

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

CONNECTOR STRIP, MALE, 2X 5 CONTACTS, MW8 SN/SN (G8)
QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

CONNECTOR STRIP, MALE, 2X 8 CONTACTS, MW8 SN/SN (G7)
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC

CONNECTOR STRIP, MALE, 50 CONTACTS, HE10, RIGHT CI2,4 (F10)
QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0166

STOCK NO

08-42-5347

ALST2020

LONG DESCRIPTION

CONNECTOR STRIP,
QPL CODE
N P

N EW Y O RK

COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

MALE, 64 CONTACTS,

MEFG - NAME

HE10, RIGHT CIZ2,4

(H11)

U/M

EA

MFG - PART-NO

29
03/18/2020
1.01.00

USE YTD

08-42-5348

MALE, DEPTH 0, 76,

MEFG - NAME

EA

MFG - PART-NO

08-42-5349

CONNECTOR STRIP,
QPL CODE
_&_ __;_
CONNECTOR, 9 PIN
QPL CODE
_ﬁ_ __;_

EA

MFG - PART-NO

08-42-5350

CONNECTOR, LOWER

QOPL

CODE

EA

MFG - PART-NO

08-42-5351

CONNECTOR, MALE,
QPL CODE
N P

RIB-CAGE, 2X10

MFG - NAME

CONTACTS, RIGHT (B4)

EA

MFG - PART-NO

08-42-5352

CONNECTOR, SIZE A

CODE

QPL

N P

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT
FILE-ID : ALST2020

PROG-ID : €

REC# STOCK NO LONG DESCRIPTION

N EW Y O RK

CITY TRANSTIT

COMMODTITY

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

0172 08-42-5353 CONNECTOR, SIZE A, SUB D 15

QPL CODE
N P

MEFG - NAME

U/M USE PY2

EA 00

MFG - PART-NO

PAGE : 30
DATE : 03/18/2020

VERSION : 1.01.00

0173 08-42-5354 CONTACT, FIXED

QOPL CODE
N P

EA 08

MFG - PART-NO

0174 08-42-5355 CONTACT, MOBILE

QPL CODE
N P
N P
N P

ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION

INC.
INC.
INC.

EA 64

MFG - PART-NO

DTR0O000056910
DTR0009112457-A
TRK5457748000 (FOR REF ONLY)

0175 08-42-5356 COPPER, CBR

QOPL CODE
N P

EA 00

MFG - PART-NO

0176 08-42-5357 COPPER, LINK

QPL CODE
N P

EA 00

MFG - PART-NO

00 00
24 00
98 02
00 00
00 00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0177

STOCK NO

08-42-5358

ALST2020

LONG DESCRIPTION

CORE, MAGNETIC

QPL

CODE

N EW Y O RK

CITY TRANSTIT

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

MEFG - NAME

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

31
03/18/2020

1.01.00

USE YTD

08-42-5359

CORE, MOVING

EA

MFG - PART-NO

08-42-5360

QOPL CODE
N P
COVER

QPL CODE
N P

EA

MFG - PART-NO

08-42-5361

COVER, AGATE

QOPL

CODE

EA

PART-NO

08-42-5362

COVER, CONTACTORS

QPL CODE
N P

MFG - NAME

ALSTOM TRANSPORTATION

EA

PART-NO

08-42-5363

COVER, DISPLAY

CODE

QPL

N P

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

02

07

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0183

STOCK NO

08-42-5364

N EW

ALST2020
COMMODTITY

LONG DESCRIPTION

Y O RK

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

U/M

EA

MFG - PART-NO

32
03/18/2020

1.01.00

USE YTD

08-42-5365

EA

MFG - PART-NO

08-42-5366

EA

PART-NO

08-42-5367

EA

PART-NO

08-42-5368

EA

PART-NO

08-42-5370

COVER, FRONT

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC.

COVER, GATE DRIVE

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC

COVER, HV

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC

COVER, HV HSCB

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC

COVER, INSULATING, TRANSPARENT POLYCARBONATE
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC

COVER, PROTECTION, TRANSPARENT POLYCARBONATE
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 33
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0189 08-42-5371 COVER, REAR L/H EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 51159.4748

0190 08-42-5372 COVER, TERMINAL ACCESS EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 51159.4824

0191 08-42-5373 COVER, TERMINAL ACCESS EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 51159.5013

0192 08-42-5380 DIODE STACK ASSEMBLY EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. TRK9695908000

0193 08-42-5381 DIODE, PROTECTION, 1.5KE33 28.2V UNI (H5) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. S4705800pP0014

0194 08-42-5382 DIODE, PROTECTION, DO214AA 28V UNI SMD (A3) EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. S4705980P2469



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0195

STOCK NO

08-42-5383

N EW Y O RK

ALST2020

CITY

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

(B4)

TRANGSTIT

MANAGEMENT

AUTHORITY

SYSTEM

U/M

EA

MFG - PART-NO

34
03/18/2020

1.01.00

USE YTD

08-42-5384

EA

MFG - PART-NO

08-42-5385

EA

MFG - PART-NO

08-42-5386

EA

MFG - PART-NO

08-42-5387

EA

MFG - PART-NO

08-42-5388

DIODE, RECTIFIER, BAV99 2X0.2A 70V SMD

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC.
DIODE, ZENER, BZX84C 300MW 10V SMD (D8)

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC.
DIODE, ZENER, BZX84C 300MW 3.3V SMD (A4)
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
DRIVE, END, SHIELD

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
ELECTRICAL, COMPONENTS, PASSING

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
ELECTRICAL COMPONENTS, PASSIVE

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0201

STOCK NO

08-42-5389

ALST2020

LONG DESCRIPTION

ELECTRONIC PANEL
QPL CODE
N P

N EW Y O RK

COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

CODA

MEFG - NAME

EA

MFG - PART-NO

35
03/18/2020

1.01.00

USE YTD

08-42-5390

ELECTRONIC PANEL
QOPL CODE
N P

ICAP-0009

MEFG - NAME

EA

MFG - PART-NO

08-42-5391

ELECTRONIC PANEL
QPL CODE
N P

PALZ2

MEFG - NAME

EA

MFG - PART-NO

08-42-5392

VAFF

MEFG - NAME

EA

MFG - PART-NO

08-42-5393

EA

MFG - PART-NO

08-42-5394

ELECTRONIC PANEL
QOPL CODE
N P
ELEMENT, ARC BOX
QPL CODE
N P
EMC, SHIELD AGATE
QPL CODE
N P

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

04

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0207

STOCK NO

08-42-5395

N EW

ALST2020
COMMODTITY

LONG DESCRIPTION

ENCLOSURE ASSEMBLY

Y O RK CITY TRANSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

36
03/18/2020

1.01.00

USE YTD

08-42-5396

EA

MFG - PART-NO

08-42-5397

EA

MFG - PART-NO

08-42-5398

EA

MFG - PART-NO

08-42-5399

EA

MFG - PART-NO

08-42-5400

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC.
ENCLOSURE ASSEMBLY

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
ENCLOSURES, H.S.C.B. CONTACTORS AND P.C.E.
QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
ENCLOSURES, H.S. C.B. CONTACTORS AND PCE
QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
ENCLOSURES, MODULES AND INVERTER BRAKING
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
ENCLOSURES, MODULE & INVERTER BRAKING

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

0213

ALST2020

N EW Y O RK

COMMODTITY

CITY TRANGSTIT

MANAGEMENT

AUTHORITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

STOCK NO LONG DESCRIPTION
08-42-5401 ENDPIECE
QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

U/M

EA

MFG - PART-NO

37
03/18/2020

1.01.00

USE YTD

08-42-5402 ENDSHIELD, NON DRIVE END

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
08-42-5403 EYELET, DEPTH 0.9/1.2

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
08-42-5404 FABRICATION, TRUCK, 2

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
08-42-5405 FAN, MAIN

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
08-42-5406 FLANGE

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

09

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0219

STOCK NO

08-42-5407

N EW

ALST2020
COMMODTITY

LONG DESCRIPTION

Y O RK CITY TRANSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

FRAME
QPL CODE
N P

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

38
03/18/2020

1.01.00

USE YTD

08-42-5408

FRAME MOULDING,

QOPL CODE
N P

CAPACITOR - CENTRAL

MEFG - NAME

EA

MFG - PART-NO

08-42-5409

FRAME, MOUNTING,

RELAY PANEL

MEFG - NAME

EA

PART-NO

08-42-5410

EA

PART-NO

08-42-5411

EA

PART-NO

08-42-5412

QPL CODE
N P
GASKET

QOPL CODE
N P
GASKET

QPL CODE
N P
GASKET

QPL CODE
N P

EA

PART-NO

PAGE
DATE
VERSION

USE PY1

01

04

00

00

00

00



USER-ID : SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 39
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1l USE YTD

0225 08-42-5413 GASKET EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4920

0226 08-42-5414 GASKET EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4923

0227 08-42-5415 GASKET EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4924

0228 08-42-5416 GASKET, GLAND PLATE, TRUCK QUICK DISCONNECT EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.5024

0229 08-42-5417 GASKET, LOUVRE (HORIZONTAL) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4940

0230 08-42-5418 GASKET, LOUVRE (VERTICAL) EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. 51159.4941



USER-ID : SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 40
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0231 08-42-5419 GLAND PLATE EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4662

0232 08-42-5420 GLAND, PLATE EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4755

0233 08-42-5421 GLAND, PLATE HV EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4837

0234 08-42-5422 GLAND, PLATE HV EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4740

0235 08-42-5423 GLAND, PLATE HV EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.5001

0236 08-42-5424 GROMMET. RUBBER, 1.8MM PANEL, 14.3MM ID EA 96 12,158 2,400
QPL CODE MEFG - NAME MFG - PART-NO



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0237

STOCK NO

08-42-5425

N EW

ALST2020
COMMODTITY

LONG DESCRIPTION

Y O RK

CITY TRANSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

THORITY

Y STEM

U/M

EA

MFG - PART-NO

41
03/18/2020

1.01.00

USE YTD

08-42-5426

EA

MFG - PART-NO

08-42-5427

EA

MFG - PART-NO

08-42-5428

EA

MFG - PART-NO

08-42-5429

EA

MFG - PART-NO

08-42-5430

GUARD, ALUMINA SUBSTRATE, LOWER, TRANSPARENT POLYCARBONATE
QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

GUARD, ALUMINA SUBSTRATE, LOWER, TRANSPARENT POLYCARBONATE
QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

GUARD, ALUMINA SUBSTRATE, UPPER, TRANSPARENT POLYCARBONATE
QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

GUARD, ALUMINA SUBSTRATE, UPPER, TRANSPARENT POLYCARBONATE
QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

GUIDE

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC

GUIDE, PROTECTIVE

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

335

720



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0243

STOCK NO

08-42-5432

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

42
03/18/2020

1.01.00

USE YTD

08-42-5433

EA

MFG - PART-NO

08-42-5434

EA

MFG - PART-NO

08-42-5435

EA

MFG - PART-NO

08-42-5436

EA

MFG - PART-NO

08-42-5437

HEATSINK

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
HEATSINK

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
HEATSINK

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
HEATSINK, BOTTOM COPPER

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
HEATSINK, BOTTOM, COPPER

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
HEATSINK, CENTRAL

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0249

STOCK NO

08-42-5438

ALST2020

LONG DESCRIPTION

HEATSINK, LEFT

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

MEFG - NAME

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

43
03/18/2020

1.01.00

USE YTD

08-42-5439

EA

MFG - PART-NO

08-42-5441

EA

PART-NO

08-42-5442

EA

PART-NO

08-42-5443

EA

PART-NO

08-42-5444

QPL CODE
N P
HEATSINK, RIGHT
QOPL CODE
N P
HINGE

QPL CODE
N P
HINGE, BRACKET
QOPL CODE
N P
HINGE, FRONT
QPL CODE
N P
HINGE, REAR
QPL CODE
N P

EA

PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT NEW Y O R K CITY TRANSTIT AUTHORTITY PAGE : 44
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD
0255 08-42-5445 HORN, ARCING - FIXED EA 132 376 101
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0009112460
N P ALSTOM TRANSPORTATION INC. TRK5457796000
0256 08-42-5446 HORN, ARCING - MOBILE EA 130 391 101
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0009112461
N P ALSTOM TRANSPORTATION INC. TRK5457797000
0257 08-42-5447 HOUSING, TRIP UNIT EA 00 01 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000020643
0258 08-42-5448 INDUCTOR, FILTR 120MH 11A (D10) EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. TRVS339001000
0259 08-42-5449 INDUCTOR, FILTR 2X1.8MH 20A (C5) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. TRVS339002000



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0260

STOCK NO

08-42-5450

N EW

ALST2020
COMMODTITY

LONG DESCRIPTION

INSULATED PANEL

Y O RK CITY TRANSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

45
03/18/2020

1.01.00

USE YTD

08-42-5451

EA

MFG - PART-NO

08-42-5452

EA

MFG - PART-NO

08-42-5453

EA

MFG - PART-NO

08-42-5454

EA

MFG - PART-NO

08-42-5455

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
INSULATED, FRONT SHIELD HSCB (FRONT PLATE)
QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
INSULATED, SHIELD HSCB (FRONT)

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
INSULATION

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
INSULATION, BLOCK HSCB

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
INSULATION, BOARD

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE 46
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY?2 USE PYl USE YTD
0266 08-42-5456 INSULATION, PANEL COVER EA 00 05 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O009404111-A
0267 08-42-5457 INSULATION, PIECE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC TRV3036522000
0268 08-42-5458 INSULATION, SHIELD ( SIDES ) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4745
0269 08-42-5459 INSULATION, SHIELD, TOP AND BOTTOM EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4737
0270 08-42-5460 INSULATOR EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0025236405
0271 08-42-5461 INSULATOR EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0026782970-A



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

0272

STOCK NO

08-42-5462

N EW Y O RK CITY TRANOSTIT AU

ALST2020

COMMODTITY MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

INT - C ANALOG AD874 CAN-12BIT SMD (A3)

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC

THORITY

Y STEM

U/M

EA

MFG - PART-NO

47
03/18/2020

1.01.00

USE YTD

08-42-5463

INT - C COMPL 691 SUPERVISOR SMD (B3)

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5464

INT - C LOG 74AC138 DECOD SMD (D3)

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5465

INT - C LOG 74AC245 TRANSM-BUS SMD (C4)

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5466

INT - C MEM RAM128KX8 20NS SMD (D4)

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5467

INT - C MICRO-P 320C31 40MAHZ SMD (D3)

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

0278

STOCK NO

08-42-5468

ALST2020

N EW Y O RK CITY TRANSTIT AU

COMMODTITY MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

INT - C PROG EPLD 7064 PLCC44 SMD (C2)
QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

48
03/18/2020

1.01.00

USE YTD

08-42-5469

INT - C PROG LCA 4006 SMD (B2)

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5470

INT-C PROG EPLD 7128S ISP 10NS SMD (B3)
QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5471

INTEGRATED CIRCUIT, 74HC14 INV-TRIG SMD (C1)
QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5472

INTEGRATED CIRCUIT, 74HC244 DRIV-RECEPT SMD (B1O)
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5473

INTEGRATED CIRCUIT, ANALOG, 74ACT245 TRANSM-BUS SMD (B3)
QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0284

STOCK NO

08-42-5474

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

49
03/18/2020

1.01.00

USE YTD

08-42-5475

INTEGRATED CIRCUIT, ANALOG, 74HC03 NAND-2-ENT-OD SMD (B3)
QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

INTEGRATED CIRCUIT, ANALOG, DG408 MULTIPLEX SMD (AD)

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5476

INTEGRATED CIRCUIT, ANALOG, DG411

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

PORT-ANALOG SMD (A3)

EA

MFG - PART-NO

08-42-5477

INTEGRATED CIRCUIT, ANALOG, LM239D

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

COMPAR SMD (C3)

EA

MFG - PART-NO

08-42-5478

INTEGRATED CIRCUIT, ANALOG, LM4040

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

REFPLUS5V SMD (B1)

EA

MFG - PART-NO

08-42-5479

INTEGRATED CIRCUIT, ANALOG, M4420

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

DRIVER-MOS (B4)

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT NEW YORK
FILE-ID : ALST2020
PROG-ID : € COMMODITY
REC# STOCK NO  LONG DESCRIPTION

0290

08-42-5480

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

INTEGRATED CIRCUIT,

QPL

N P

CODE

MEFG - NAME

ALSTOM TRANSPORTATION

ANALOG, REFPLUS2.5V S08 SMD

(D7)

U/M

EA

MFG - PART-NO

50
03/18/2020

1.01.00

USE YTD

08-42-5481

INTEGRATED CIRCUIT, ANALOG, TL0841ID
QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

OP-AMPLI SMD (B)5)

EA

MFG - PART-NO

08-42-5482

INTEGRATED CIRCUIT, COMPL, 691A
QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

SUPERVISOR SMD (B4)

EA

MFG - PART-NO

08-42-5483

INTEGRATED CIRCUIT, COMPL, 82527 CAN
QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

PLUS SMD (B4)

EA

MFG - PART-NO

08-42-5484

INTEGRATED CIRCUIT, COMPL, 82C54 TIMER
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5485

INTEGRATED CIRCUIT, COMPL, 85230 ACIA
QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

16MAHZ SMD (B2)

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE 51
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY?2 USE PYl USE YTD
0296 08-42-5486 INTEGRATED CIRCUIT, LCA 4010 SMD (BR8) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. S4602903P0028
0297 08-42-5487 INTEGRATED CIRCUIT, MEM SEEPROM 24164 SMD (D16) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC S4602901P0082
0298 08-42-5488 INTEGRATED CIRCUIT, MEM, 29F040 FLASH SMD (A3) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC S4602901P0027
0299 08-42-5489 INTEGRATED CIRCUIT, MEM, SRAM 512K8 SOJ36 20NSSMD (C2) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC S4602901P5077
0300 08-42-5490 INTEGRATED CIRCUIT, MICRO-PROCESSOR, I960CA 25MAHZ (D3) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC S4602105P0173
0301 08-42-5491 INTEGRATED CIRCUIT, TRANSMITTER BUS, 74ABT640 SMD (B5) EA 00 00 00

CODE

MEFG - NAME

ALSTOM TRANSPORTATION

QPL

N P

MFG - PART-NO



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0302

STOCK NO

08-42-5492

N EW Y O RK

ALST2020
COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

INTEGRATED CIRCUIT, TRANSMITTER BUS,

74HC640 (F10)

U/M

EA

MFG - PART-NO

52
03/18/2020

1.01.00

USE YTD

08-42-5493

EA

MFG - PART-NO

08-42-5494

EA

MFG - PART-NO

08-42-5495

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
INTERFACE, DIODE, COPPER

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
INTERFACE, THYRISTOR TO COPPER

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
JAMNUT, HEX, M4

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5496

JUMPER, KAPTON, 20COND-2.54 LG1,5IN

EA

MFG - PART-NO

08-42-5498

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
JUNCTION, POSTS, A, B, C-PHASE, KIT
QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

INCLUDES TR03-475.046/001,

002 AND 003 SET

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 53
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD
0308 08-42-5499 KEYING PIN, DAUGHTER BOARD (A5) EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000445200
0309 08-42-5500 KIT, INDICATION PLATES EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC TRK7638272000
0310 08-42-5501 LED SIGNAL, RED, 1MCD 2MA (C10) EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC S4715100P0068
0311 08-42-5502 LEVER EA 05 04 00
QOPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0O000017899
0312 08-42-5503 LEVER, BREAKER EA 00 01 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0O000019446-B
0313 08-42-5504 LEVER, TRIPPING EA 30 335 100
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000020635-B



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0314

STOCK NO

08-42-5505

ALST2020

LONG DESCRIPTION

LOAD SPREADER

N EW Y O RK

CITY TRANSTIT

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

PAGE
DATE

VERSION

54
03/18/2020

1.01.00

USE YTD

08-42-5506

EA

MFG - PART-NO

08-42-5507

EA

MFG - PART-NO

08-42-5508

EA

MFG - PART-NO

08-42-5509

EA

MFG - PART-NO

08-42-5510

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
PIN COURT

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
LOCKPLATE

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
LOCKWASHER, 10-22-1.6

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
LOCKWASHER, 3-8-0.6

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
LOCKWASHER, 4-10-0.9

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0320

STOCK NO

08-42-5511

ALST2020

LONG DESCRIPTION

NEW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

1.1

MEFG - NAME

ALSTOM TRANSPORTATION

CITY TRANGSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

PAGE
DATE

VERSION

55
03/18/2020

1.01.00

USE YTD

08-42-5512

LOCKWASHER, 5-12-
QPL CODE
N P
LOCKWASHER, 6-14-
QOPL CODE

1.3

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5513

N P
LOCKWASHER, 6-14-
QPL CODE

1.3

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5514

N P
LOCKWASHER, 8-16-
QOPL CODE

N P

1.4

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5515

LOCKWASHER, M4

MFG - NAME

EA

MFG - PART-NO

08-42-5516

QPL CODE
N P
LOUVRE, COVER
QPL CODE
N P

ALSTOM TRANSPORTATION

EA

MFG - PART-NO



USER-ID SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 56
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY?2 USE PYl USE YTD
0326 08-42-5517 MODULE, EARTH COPPER EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 51159.4955
0327 08-42-5518 MOUNTING FLANGE, BOTTOM EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC TRK7638127000
0328 08-42-5519 NUT, 1/2IN -13 UNC EA 2,000 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0009404001
0329 08-42-5520 NUT, ARC BOX M6 EA 06 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0009112373-B
0330 08-42-5521 NUT, BLIND M6 EA 06 38 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0021332510-A
0331 08-42-5522 NUT, CAPTIVE, SST, 1/2.-13 UNC. EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC TRK7636142000



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

0332

STOCK NO

08-42-5523

ALST2020

N EW Y O RK

CITY TRANSTIT

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

DESCRIPTION

ESN H 130 M3

CODE MEFG - NAME

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

57
03/18/2020

1.01.00

USE YTD

08-42-5524

NUT,

QOPL

GR A2-70 SST, H M3

CODE MEFG - NAME
P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5525

NUT,

QPL

GR A2-70 SST, H M5

CODE MEFG - NAME
P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5526

NUT,

QOPL

HEX, GR A2-70 SST, H M2.5

CODE MEFG - NAME

P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5527

NUT,

QPL

HEX, GR A2-70 SST, H M3

EA

MFG - PART-NO

08-42-5528

NUT,

QPL

CODE MFG - NAME
P ALSTOM TRANSPORTATION
HEX, M12
CODE MFG - NAME
P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

20

00

00

00

00

00



USER-ID : SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 58
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0338 08-42-5529 NUT, HEX, M3 EA 27 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0009907735

0339 08-42-5531 NUT, HEX, M4 EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0021324536

0340 08-42-5532 NUT, HEX, M5 EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0021324754

0341 08-42-5533 NUT, HEX, M5 EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 0021324754

0342 08-42-5535 NUT, HEX. M4 EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0021324753

0343 08-42-5541 NUT, T-SHAPED M8 W/.08 EXTENSION EA 00 02 00
QPL CODE MEFG - NAME MFG - PART-NO



COMMODTITY

USER-ID : SPT NEW
FILE-ID : ALST2020
PROG-ID : €

REC# STOCK NO  LONG DESCRIPTION

0344

08-42-5542

Y O RK CITY TRANSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

59
03/18/2020

1.01.00

USE YTD

08-42-5543

OSCIL SOJ8 16MAHZ 100PPM DT: 10 PERCENT SMD (C4)
QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC.
OSCIL SOJ8 32MAHZ 100PPM DT: 10 PERCENT SMD (C3)

EA

MFG - PART-NO

08-42-5544

EA

PART-NO

08-42-5545

EA

PART-NO

08-42-5546

EA

PART-NO

08-42-5547

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
PANEL, CONTROL VMD/HSCB

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
PANEL, FVMD, CCC, CDC

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
PANELS, ELECTRONIC

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
PANELS, ELECTRONIC

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0350

STOCK NO

08-42-5548

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

PRINTED CIRCUIT BOARD

QPL

N P

CODE

MEFG - NAME

ALSTOM TRANSPORTATION

CITY TRANSTIT

MANAGEMENT

AUTHORITY

SYSTEM

U/M

EA

MFG - PART-NO

60
03/18/2020

1.01.00

USE YTD

08-42-5549

PRINTED CIRCUIT BOARD

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5550

PRINTED CIRCUIT BOARDZ2

EA

MFG - PART-NO

08-42-5551

EA

MFG - PART-NO

08-42-5552

EA

MFG - PART-NO

08-42-5553

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
BATTERY, LITHIUM, 1/2 AA, 3 VOLT, 0.9
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
PIN

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
ROD, THREADED, ON HIGH SPEED CIRCUIT
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION

BREAKER

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 61
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PYl USE YTD
0356 08-42-5555 PIN, BACK EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. TRV3036337000
0357 08-42-5556 PIN, BREAKER LEVER EA 12 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0009112419-B
0358 08-42-5557 PIN, GO5 DIA 5 X 14MM LG EA 132 1,340 400
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0021187639
0359 08-42-5558 PIN, LOCATING EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0O000069927-A
0360 08-42-5559 PIN, TENSION, PHOSPHATED SPRING STEEL, 3MM NOMINAL DIA X 12MM LG EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0009404126-A
0361 08-42-5560 PIN, TRIPPING LEVER EA 12 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0O000047711-A



USER-ID : SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 62
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO  LONG DESCRIPTION U/M USE PY2 USE PYl USE YTD

0362 08-42-5561 PLATE, (NON POLISHED), FOR THE ARC-CHUTE ASSEMBLY EA 3,075 2,905 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0009112464

0363 08-42-5562 PLATE ASSEMBLY, JOINTED EA 43 20 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0009113213-B

0364 08-42-5563 PLATE, COVER EA 00 02 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000017901-B

0365 08-42-5564 PLATE, GLAND, TRUCK NO 1, A CAR EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4660

0366 08-42-5565 PLATE, GLAND, TRUCK NO 2, A CAR EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51159.4661

0367 08-42-5566 PLATE, GLAND, TRUCK QUICK DISCONNECT EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. 51159.5048



USER-ID : SPT
FILE-ID ALST2020

PROG-ID : €

N EW Y O RK

CITY TRANGSTIT

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

ALSTOM TRANSPORTATION

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

PAGE : 63
DATE

VERSION

03/18/2020
1.01.00

EA

MFG - PART-NO

EA

MFG - PART-NO

ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION

INC.
INC.

EA

MFG - PART-NO

5457815
DTR0009112462

REC# STOCK NO LONG DESCRIPTION

0368 08-42-5567 PLATE, IDENTIFICATION
QPL CODE MEFG - NAME
N P

0369 08-42-5568 PLATE, ISOLATION
QOPL CODE MEFG - NAME
N P

0370 08-42-5569 PLATE, LOWER, PROTECTION
QPL CODE MEFG - NAME
N P

0371 08-42-5570 PLATE, MAGNETIC
QOPL CODE MEFG - NAME
N P
N P

0372 08-42-5571 PLATE, POLE
QPL CODE MFG - NAME
N P

EA

MFG - PART-NO

00 00
00 00
01 00
00 00
02 00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0373

STOCK NO

08-42-5572

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

PLATE, TOP
QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

CITY TRANGSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

64
03/18/2020

1.01.00

USE YTD

08-42-5573

PRINTED CIRCUIT BOARD

QOPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5574

PRINTED CIRCUIT BOARD

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5575

PRINTED CIRCUIT BOARD

QOPL

CODE

MEFG - NAME

EA

MFG - PART-NO

08-42-5576

PRINTED CIRCUIT BOARD

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5577

PRINTED CIRCUIT BOARD

CODE

MEFG - NAME

ALSTOM TRANSPORTATION

QPL

N P

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0379

STOCK NO

08-42-5578

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

PRINTED CIRCUIT BOARD

QPL

CODE

MEFG - NAME

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

65
03/18/2020

1.01.00

USE YTD

08-42-5579

PRINTED CIRCUIT BOARD

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5580

PRINTED CIRCUIT BOARD

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5581

PRINTED CIRCUIT BOARD

QOPL

CODE

MEFG - NAME

EA

MFG - PART-NO

08-42-5582

PRINTED CIRCUIT BOARD

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5583

PRINTED CIRCUIT BOARD

CODE

MEFG - NAME

ALSTOM TRANSPORTATION

QPL

N P

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0385

STOCK NO

08-42-5584

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

PRINTED CIRCUIT BOARD

QPL

CODE

MEFG - NAME

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

66
03/18/2020

1.01.00

USE YTD

08-42-5585

PRINTED CIRCUIT BOARD

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5586

PRINTED CIRCUIT BOARD

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5587

PRINTED CIRCUIT BOARD

QOPL

CODE

MEFG - NAME

EA

MFG - PART-NO

08-42-5588

PRINTED CIRCUIT BOARD

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5589

PRINTED CIRCUIT BOARD

CODE

MEFG - NAME

ALSTOM TRANSPORTATION

QPL

N P

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0391

STOCK NO

08-42-5590

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

PRINTED CIRCUIT BOARD

QPL

CODE

MEFG - NAME

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

67
03/18/2020

1.01.00

USE YTD

08-42-5591

PRINTED CIRCUIT BOARD

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5592

PRINTED CIRCUIT BOARD

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5593

PRINTED CIRCUIT BOARD

QOPL

CODE

MEFG - NAME

EA

MFG - PART-NO

08-42-5594

PRINTED CIRCUIT BOARD

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5595

PRINTED CIRCUIT BOARD

CODE

MEFG - NAME

ALSTOM TRANSPORTATION

QPL

N P

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT NEW Y O R K CITY TRANSTIT AUTHORTITY PAGE : 68
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0397 08-42-5596 PRINTED CIRCUIT BOARD EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. TRVC070037005

0398 08-42-5597 PRINTED CIRCUIT BOARD EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. TRVC070055005

0399 08-42-5598 PRINTED CIRCUIT BOARD EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. TRVC070084005

0400 08-42-5599 PRINTED CIRCUIT BOARD EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. TRVC070381000

0401 08-42-5600 PROBE, TEMPERATURE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTRO00005175

0402 08-42-5601 PROBE, TEMPERATURE EA 09 11 00
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. DTR0000027984-A



USER-ID : SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 69
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0403 08-42-5602 PROPULSION CONTROL ELECTRONICS EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0009403988-A

0404 08-42-5603 RACK EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 6639806

0405 08-42-5604 RECEPTACLE EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC S4025154P3610

0406 08-42-5605 RELAY, 30X10 24V 8A 1RT (F5) EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC S4510002P0174

0407 08-42-5606 RESISTOR, RP7 1.5W 24.9 OHM 0.5 PERCENT (Al) EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. S4507553P1421

0408 08-42-5607 RESISTOR, 10 OHM, 5%, 28W EA 00 05 00
QPL CODE MEFG - NAME MFG - PART-NO



USER-ID
FILE-ID

PROG-ID : €

REC#

0409

STOCK NO

08-42-5608

SPT
ALST2020

LONG DESCRIPTION

RESISTOR, DISCHARGE,

QPL

CODE

P

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

50w, 33K OHM, (5

MEFG - NAME

ALSTOM TRANSPORTATION INC.

CITY TRANSTIT

MANAGEMENT

PERCENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

70

03/18/2020

1.01.00

USE YTD

08-42-5609

RESISTOR,

QOPL

RB57

CODE

6.5W 82 OHM 5 PERCENT (JI5)

MEFG - NAME

EA

MFG - PART-NO

08-42-5610

RESISTOR,

QPL

RC32

CODE

0,5W 1KOHM 2 PERCENT

(C1)

MEFG - NAME

EA

MFG - PART-NO

08-42-5611

RESISTOR,

QOPL

RC32

CODE

0.5W 0.01 OHM SHUNT

(H10)

MEFG - NAME

EA

MFG - PART-NO

08-42-5612

RESISTOR,

QPL

RC32

CODE

0.5W 1.2KOHM 2 PERCENT (A3)

MFG - NAME

EA

MFG - PART-NO

08-42-5613

RESISTOR,

QPL

RC32

CODE

P

0.5W 100 OHM 2 PERCENT (G7)

MEFG - NAME

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

PROG-ID : €

REC#

0415

STOCK NO

08-42-5614

SPT
ALST2020

LONG DESCRIPTION

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

RESISTOR, RC32 0.5W 150 OHM 2 PERCENT

QPL

CODE

MEFG - NAME

CITY TRANSTIT

(Al)

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

71

03/18/2020

1.01.00

USE YTD

08-42-5615

RESISTOR,

QOPL

RC32 0.5W 2KOHM 2 PERCENT

CODE

MEFG - NAME

EA

MFG - PART-NO

08-42-5616

RESISTOR,

QPL

RC32 0.5W 560 OHM 2 PERCENT

CODE

MEFG - NAME

EA

MFG - PART-NO

08-42-5617

RESISTOR,

QOPL

RC32 0.5W 620 OHM 2 PERCENT

CODE

MEFG - NAME

EA

MFG - PART-NO

08-42-5618

RESISTOR,

QPL

RC32,

CODE

0.5W 10KOHM 2 PERCENT

MFG - NAME

EA

MFG - PART-NO

08-42-5619

RESISTOR,

QPL

1.5w 17.8 OHM 0.5 PERCENT

(B4)

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

PROG-ID : €

REC#

0421

STOCK NO

08-42-5620

SPT
ALST2020

LONG DESCRIPTION

RESISTOR, RR1206

NEW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

0.25W 1.00KOHM 1 PERCENT SMD (C1)

MEFG - NAME

CITY TRANGSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

72

03/18/2020

1.01.00

USE YTD

08-42-5621

0.25W 1.00KOHM 1 PERCENTSMDS (B1)

MEFG - NAME

EA

MFG - PART-NO

08-42-5622

0.25W 1.96KOHM 1 PERCENT SMD (C2)

MEFG - NAME

EA

MFG - PART-NO

08-42-5623

0.25W 10 OHM 1 PERCENT SMD (A3)

MEFG - NAME

EA

MFG - PART-NO

08-42-5624

0.25W 10.0KOHM 1 PERCENT SMD (B4)

MFG - NAME

EA

MFG - PART-NO

08-42-5625

QPL CODE
N P
RESISTOR, RR1206
QOPL CODE
N P
RESISTOR, RR1206
QPL CODE
N P
RESISTOR, RR1206
QOPL CODE
N P
RESISTOR, RR1206
QPL CODE
N P
RESISTOR, RR1206
QPL CODE
N P

0.25W 100 OHM 1 PERCENT SMD (B3)

MEFG - NAME

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

PROG-ID : €

REC#

0427

STOCK NO

08-42-5626

08-42-5627

08-42-5628

08-42-5629

08-42-5630

08-42-5631

SPT
ALST2020

LONG DESCRIPTION

RESISTOR, RR1206

QPL CODE
N P
RESISTOR, RR1206
QOPL CODE
N P
RESISTOR, RR1206
QPL CODE
N P
RESISTOR, RR1206
QOPL CODE
N P
RESISTOR, RR1206
QPL CODE
N P
RESISTOR, RR1206
QPL CODE
N P

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

0.25W 11.0KOHM 1

MEFG - NAME

0.25W 121-OHM 1

MEFG - NAME

0.25W 19.6KOHM 1

MEFG - NAME

0.25W 2.15KOHM 1

MEFG - NAME

0.25W 2.37KOHM 1

MFG - NAME

0.25W 2.61KOHM 1

MEFG - NAME

CITY TRANSTIT

PERCENT SMD (C2)
INC
PERCENT SMD (E10)
INC
PERCENT SMD (D4)
INC
PERCENT SMD (C10)
INC
PERCENT SMD (B4)
INC
PERCENT SMD (C9)
INC

MANAGEMENT

AUTHORITY

SYSTEM

U/M

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00

73
03/18/2020

1.01.00

USE YTD



USER-ID
FILE-ID

PROG-ID : €

REC#

0433

STOCK NO

08-42-5632

08-42-5633

08-42-5634

08-42-5635

08-42-5636

08-42-5637

SPT
ALST2020

LONG DESCRIPTION

RESISTOR, RR1206 0.25W 20KOHM 1 PERCENT SMD

QPL CODE

N P
RESISTOR, RR1206
QOPL CODE

N P
RESISTOR, RR1206
QPL CODE

N P
RESISTOR, RR1206
QOPL CODE

N P
RESISTOR, RR1206
QPL CODE

N P
RESISTOR, RR1206
QPL CODE

N P

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

MEFG - NAME

0.25W 21.5KOHM 1 PERCENT SMD

MEFG - NAME

0.25W 28.7KOHM 1

MEFG - NAME

0.25W 3.16KOHM 1

MEFG - NAME

0.25W 316KOHM 1

MFG - NAME

0.25W 4.22KOHM 1

MEFG - NAME

CITY TRANSTIT

(BS)

(B4)
INC
PERCENT SMD (B2)
INC
PERCENT SMD (B3)
INC
PERCENT SMD (A4)
INC
PERCENT SMD (C3)
INC

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00

74
03/18/2020

1.01.00

USE YTD



USER-ID
FILE-ID

PROG-ID : €

REC#

0439

STOCK NO

08-42-5638

08-42-5639

08-42-5640

08-42-5641

08-42-5642

08-42-5643

SPT
ALST2020

LONG DESCRIPTION

RESISTOR, RR1206

QPL CODE

N P
RESISTOR, RR1206
QOPL CODE

N P
RESISTOR, RR1206
QPL CODE

N P
RESISTOR, RR1206
QOPL CODE

N P
RESISTOR, RR1206
QPL CODE

N P
RESISTOR, RR1206
QPL CODE

N P

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

0.25W 4.64KOHM 1

MEFG - NAME

0.25W 464-0OHM 1

MEFG - NAME

0.25W 562 OHM 1

MEFG - NAME

0.25W 6.81KOHM 1

MEFG - NAME

0.25W 68.1 OHM 1

MFG - NAME

0.25W 8.25KOHM 1

MEFG - NAME

CITY TRANSTIT

PERCENT SMD (AD5)
INC
PERCENT SMD (C2)
INC
PERCENT SMD (AD5)
INC
PERCENT SMD (C4)
INC
PERCENT SMD (C5)
INC
PERCENT SMD (B3)
INC

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00

75
03/18/2020

1.01.00

USE YTD



USER-ID
FILE-ID

PROG-ID : €

REC#

0445

STOCK NO

08-42-5644

SPT
ALST2020

LONG DESCRIPTION

RESISTOR, RR1206 0.25W 90.9KOHM 1

QPL

CODE

P

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

PERCENT SMD

MEFG - NAME

ALSTOM TRANSPORTATION INC.

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

76

03/18/2020

1.01.00

USE YTD

08-42-5645

RESISTOR,

QOPL

RR1206 2A 0.05 OHM SMD (C4)

CODE

P

MEFG - NAME

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5646

RESISTOR,

QPL

RS71Y

CODE

0.5W 1.50KOHM 0.5 PERCENT (C4)

MEFG - NAME

EA

MFG - PART-NO

08-42-5647

RESISTOR,

QOPL

RS71Y

CODE

0.5W 10KOHM 0.5 PERCENT (C3)

MEFG - NAME

EA

MFG - PART-NO

08-42-5648

RESISTOR,

QPL

RS71Y

CODE

0.5W 110 OHM 0,5 PERCENT (D5)

MFG - NAME

EA

MFG - PART-NO

08-42-5649

RESISTOR,

QPL

RS71Y

CODE

P

0.5W 1KOHM 0.5 PERCENT (B4)

MEFG - NAME

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

PROG-ID : €

REC#

0451

STOCK NO

08-42-5650

SPT
ALST2020

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

RESISTOR, RS71Y 0.5W 2.43KOHM 0.5

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

CITY TRANOSTIT

MANAGEMENT

PERCENT (C4)

AUTHORITY

SYSTEM

U/M

EA

MFG - PART-NO

77

03/18/2020

1.01.00

USE YTD

08-42-5651

RESISTOR, RS71Y 0.5W 681 OHM 0.5

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

PERCENT (B4)

EA

MFG - PART-NO

08-42-5652

RESISTOR, SIL10-9 0.9W 10KOHM 2 PERCENT (J10)

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5653

RESISTOR, SIL8-4 0.7W 4(47 OHM) 2

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

PERCENT (F10)

EA

MFG - PART-NO

08-42-5654

RESISTOR, STYLE-DX 1W 10 OHM 2 PERCENT (G7)

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5655

RESISTOR, STYLE-DX 1W 2.2KOHM 2 PERCENT (B5)

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 78
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0457 08-42-5656 RESISTOR, STYLE-DX 1W 560 OHM 2 PERCENT (K5) EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. S4507095P7211

0458 08-42-5657 RESISTOR/CAPACITOR SUPPORT ASSEMBLY EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0009404134-A

0459 08-42-5658 RESON SOJ5X13 16MAHZ SMD (B4) EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. S4620901P0002

0460 08-42-5659 RING, E REINFORCED 864 10-1.1 EA 53 670 200
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0021235314-A

0461 08-42-5660 RIVET EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 1604-0514

0462 08-42-5661 ROD, TIE M6 EA 03 23 00
QPL CODE MEFG - NAME MFG - PART-NO



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

0463

STOCK NO

08-42-5662

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

ROTOR, CAGE

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

79
03/18/2020

1.01.00

USE YTD

08-42-5663

SCREW, 10 POINT HEAD, 7/8 UNC X 2.0 IN

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5664

SCREW, BUTTON HEAD, GR A2-70 SST, M3 X

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5665

SCREW, C/SUNK HEAD, GRADE 8.8, M3 X

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5666

SCREW, COUNTERSUNK HEAD, M5 X 12 MM

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION
N P ALSTOM TRANSPORTATION

LONG, GRADE 8.8

INC.
INC.

EA

MFG - PART-NO

0021512363
DTR0009909006

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0468

STOCK NO

08-42-5667

ALST2020

LONG DESCRIPTION

N

E

W

Y O RK

COMMODTITY

CITY TRANSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

SCREW,

QPL

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

80
03/18/2020

1.01.00

USE YTD

08-42-5668

SCREW,

QOPL

EA

MFG - PART-NO

08-42-5669

SCREW,

QPL

EA

MFG - PART-NO

08-42-5670

SCREW,

QOPL

EA

MFG - PART-NO

08-42-5671

SCREW,

QPL

EA

MFG - PART-NO

08-42-5673

SCREW,

QPL

CHC, GR A2-70 SST, M3X8MM LG
CODE MEFG - NAME
P ALSTOM TRANSPORTATION INC.
CHEESE HEAD, GRADE 8.8, M3 X 10MM LG
CODE MEFG - NAME
P ALSTOM TRANSPORTATION INC
COUNTERSUNK HEAD, GRADE 8.8, M3 X 8MM LG.
CODE MEFG - NAME
P ALSTOM TRANSPORTATION INC
COUNTERSUNK HEAD, M3 X 10MM LG
CODE MEFG - NAME
P ALSTOM TRANSPORTATION INC
COUNTERSUNK HEAD, M5 X 10MM LG
CODE MFG - NAME
P ALSTOM TRANSPORTATION INC
CS HD, GR A2-70 SST, M2 5X20MM LG
CODE MEFG - NAME
P ALSTOM TRANSPORTATION INC

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

40

00

00



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

0474

STOCK NO

08-42-5674

N EW Y O RK CITY TRANGSTIT AU

ALST2020

COMMODTITY MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

SCREW, CS HD, GR A2-70 SST, M2.5X12MM LG

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION INC

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

81
03/18/2020

1.01.00

USE YTD

08-42-5675

SCREW, CS HD, GR A2-70 SST, M3X6MM LG

EA

MFG - PART-NO

08-42-5677

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

SOCKET HEAD SCREW, GR A2-70 SST, CHC M3X16MM LG LG
QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5678

SCREW, HEX HD, GR A2-70 SST, CHC M3X6MM LG

EA

MFG - PART-NO

08-42-5679

EA

MFG - PART-NO

08-42-5680

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC.

SCREW, HEX HD, GR A2-70 SST, FHC M5X16MM LG
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC.

SCREW, HEX HD, GR A2-70 SST, FHC M5X20MM LG
QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0480

STOCK NO

08-42-5681

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CITY TRANGSTIT

LG

MANAGEMENT

AUTHORITY

SYSTEM

U/M

EA

MFG - PART-NO

82
03/18/2020

1.01.00

USE YTD

08-42-5682

EA

MFG - PART-NO

08-42-5683

EA

MFG - PART-NO

08-42-5684

EA

MFG - PART-NO

08-42-5685

EA

MFG - PART-NO

08-42-5686

SCREW, HEX HD, GR A2-70 SST, H M3X10MM
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
SCREW, HEX HD, GR A2-70 SST, H M3X16MM
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
SCREW, HEX HD, GR A2-70 SST, H M3X8MM
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
SCREW, HEX HD, GR A2-70 SST, H M3X8MM
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
SCREW, HEX HEAD 1/4-20-UNC X 20MM LG
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
SCREW, HEX HEAD M6 X 45MM LG

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

20



USER-ID : SPT
FILE-ID : ALST2020
PROG-ID : €

REC# STOCK NO

0486

08-42-5687

QPL

LONG DESCRIPTION

CODE

N EW Y O RK CITY TRANSTIT AU

COMMODTITY MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

SCREW, HEX HEAD, M5 X 35MM LG

MEFG - NAME

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

PAGE : 83

08-42-5693

QOPL

SCREW,

HEX HEAD,

CODE

CAP, 5/16-18 UNC X 1.25IN LG

MEFG - NAME

EA

MFG - PART-NO

08-42-5694

QOPL

CAPTIVE SCREW, HEX HEAD,
HEAT TREATMENT

CODE

5/16 IN. X 1-31/32 IN LONG, WITH NON-

(SPECIAL SCREW)

MEFG - NAME

CONVENTIONAL EA

MFG - PART-NO

0489

08-42-5695

QPL

SCREW,

HEX HEAD,

CODE

GR 8.8, ZN TO E25009, M4 X 16MM LG

MFG - NAME

EA

MFG - PART-NO

0490

08-42-5696

QPL

SCREW,

HEX HEAD,

CODE

GRADE 8.8 M10 X 25MM LG

MFG - NAME

EA

MFG - PART-NO

DATE 03/18/2020
VERSION 1.01.00
USE PYl USE YTD

00 00
00 00
44 10
00 00
00 00



USER-ID
FILE-ID

PROG-ID : €

REC#

0491

STOCK NO

08-42-5697

08-42-5698

08-42-5700

08-42-5701

08-42-5703

08-42-5704

SPT
ALST2020

LONG DESCRIPTION

SCREW,

QPL

SCREW,

QOPL

SCREW,

QPL

SCREW,

QOPL

SCREW,

QPL

SCREW,

QPL

HEX HEAD,

CODE

HEX HEAD,

CODE

HEX HEAD,

CODE

HEX HEAD,

CODE

HEX HEAD,

CODE

HEX HEAD,

CODE

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

GRADE 8.8, M10 X 20MM LG
MEFG - NAME
ALSTOM TRANSPORTATION INC

GRADE 8.8, M4 X 12MM LG
MEFG - NAME
ALSTOM TRANSPORTATION INC

GRADE 8.8, M4 X 8MM LG

MEFG - NAME

GRADE 8.8, M5 X 10MM LG
MEFG - NAME
ALSTOM TRANSPORTATION INC

GRADE 8.8, M5 X 16MM LG.
MFG - NAME
ALSTOM TRANSPORTATION INC

GRADE 8.8, M5 X 25MM LG
MEFG - NAME
ALSTOM TRANSPORTATION INC

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00

84
03/18/2020

1.01.00

USE YTD



USER-ID
FILE-ID

PROG-ID : €

REC#

0497

STOCK NO

08-42-5705

08-42-5706

08-42-5707

08-42-5708

08-42-5709

08-42-5710

SPT
ALST2020

LONG DESCRIPTION

SCREW,

QPL

SCREW,

QOPL

SCREW,

QPL

SCREW,

QOPL

SCREW,

QPL

SCREW,

QPL

HEX HEAD,

CODE

HEX HEAD,

CODE

HEX HEAD,

CODE

HEX HEAD,

CODE

HEX HEAD,

CODE

HEX HEAD,

CODE

NEW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

GRADE 8.8, M6 X 12MM

MEFG - NAME

GRADE 8.8, M6 X 16MM

MEFG - NAME

GRADE 8.8, M6 X 25MM

MEFG - NAME

GRADE 8.8, M8 X 12MM

MEFG - NAME

GRADE 8.8, M8 X 25MM

MFG - NAME

M3 X 12MM LG

MEFG - NAME

CITY TRANGSTIT

LG

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00

85
03/18/2020

1.01.00

USE YTD



USER-ID SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 86
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY?2 USE PYl USE YTD
0503 08-42-5711 SCREW, HEX HEAD, M4 X 18MM LG EA 01 210 01
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 0021713087
0504 08-42-5712 SCREW, HEX HEAD, M4 X 20MM LG EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0O009907824-A
0505 08-42-5713 SCREW, HEX HEAD, M4 X 50MM LG EA 10 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 0021713105
0506 08-42-5714 SCREW, HEX HEAD, M5 X 16MM LG EA 00 00 10
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0009907831
0507 08-42-5715 SCREW, HEX HEAD, M5 X 30MM LG EA 606 1,065 300
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0009907834
0508 08-42-5716 SCREW, HEX HEAD, M6 X 20MM LG EA 04 22 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 0021713184



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0509

STOCK NO

08-42-5717

ALST2020

LONG DESCRIPTION

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

87
03/18/2020

1.01.00

USE YTD

08-42-5718

EA

MFG - PART-NO

08-42-5719

EA

MFG - PART-NO

08-42-5720

EA

MFG - PART-NO

08-42-5721

EA

MFG - PART-NO

08-42-5725

SCREW, M8 X 35MM LG

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
SCREW, PAN HEAD, GRADE 8.8 M3 X 12MM
QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
SCREW, PLASTITE TCBL N.2-8 POZIDRIV
QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
SCREW, SOCKET HEAD CAP M6 X 75MM LG
QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
SCREW, SOCKET HEAD, CAP M6 X 16MM LG
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
SCREW, SOCKET HEAD, CAP, 5/16-18 UNC X
QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

1.00IN LG

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

48

00

00

15

16

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0515

STOCK NO

08-42-5726

N EW Y O RK

ALST2020
COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

2.00IN LG

U/M

EA

MFG - PART-NO

88
03/18/2020

1.01.00

USE YTD

08-42-5727

EA

MFG - PART-NO

08-42-5728

METER = 164 FEET)

EA

MFG - PART-NO

08-42-5729

SCREW, SOCKET HEAD, CAP, 5/16-18 UNC X
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
SCREW, SOCKET HEAD, CAP, M3 X 8MM LG
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
SEAL, DELIVERED BY ROLL (1 ROLL = 50
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
SEAL

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5730

SENSORS & MEASURING DEVICES

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5731

SENSORS AND MEASURING DEVICES

CODE

MEFG - NAME

ALSTOM TRANSPORTATION

QPL

N P

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

360

00

00

00

00



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

0521

STOCK NO

08-42-5732

ALST2020

LONG DESCRIPTION

SHEET ASSEMBLY

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

MEFG - NAME

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

89
03/18/2020

1.01.00

USE YTD

08-42-5733

QPL CODE
N P
SHIM

QOPL CODE
N P

EA

MFG - PART-NO

08-42-5734

SHORT CIRCUIT COMPONENT (G11)

QPL CODE
N P

MEFG - NAME

EA

MFG - PART-NO

08-42-5735

SOCKET STRIP, MALE, 2X 8 CONTACTS, MW7

QOPL CODE
N P

MEFG - NAME

SN/SN (B10)

EA

MFG - PART-NO

08-42-5736

SOCKET STRIP, MALE, DEPTH 0.76, 2X36

QPL CODE
N P

MFG - NAME

ALSTOM TRANSPORTATION

CONTACTS (AS8)

EA

MFG - PART-NO

08-42-5737

SOLDER SIDE CODA
QPL CODE
N P

PANEL

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

20

00

00

00

00



COMMODTITY

USER-ID : SPT NEW
FILE-ID : ALST2020
PROG-ID : €

REC# STOCK NO  LONG DESCRIPTION

0527

08-42-5738

Y O RK

CITY TRANOSTIT

MANAGEMENT

MATERIAL STANDARDS USAGE REPORT

AUTHORITY

SYSTEM

U/M

EA

MFG - PART-NO

90
03/18/2020

1.01.00

USE YTD

08-42-5739

EA

MFG - PART-NO

08-42-5740

EA

MFG - PART-NO

08-42-5741

EA

MFG - PART-NO

08-42-5742

EA

MFG - PART-NO

08-42-5743

SPACER

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC.
SPACER

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
SPACER

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
SPACER

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
SPACER, CONNECTOR

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
SPACER, FEMALE/FEMALE, GR SST

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

05

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0533

STOCK NO

08-42-5744

ALST2020

LONG DESCRIPTION

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

91
03/18/2020

1.01.00

USE YTD

08-42-5745

10-32 UNF

EA

MFG - PART-NO

08-42-5746

EA

MFG - PART-NO

08-42-5747

SPACER, MALE/MALE, GR SST

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
SPACER, NYLON, WHITE, TAPPED THROUGH
QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
SPACER, SHORT

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
SPACER, STAND OFF, MALE - FEMALE, GR
QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5748

SPREY POINTS, CODA H.C.
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5749

SPREY POINTS, CODA H.L.
QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0539

STOCK NO

08-42-5750

ALST2020

LONG DESCRIPTION

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

MEFG - NAME

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

92
03/18/2020

1.01.00

USE YTD

08-42-5751

SPRING
QPL CODE
_&_ __;_
SPRING
QOPL CODE
_&_ __;_

EA

MFG - PART-NO

08-42-5752

STAY, ARM COVER

EA

MFG - PART-NO

08-42-5753

EA

MFG - PART-NO

08-42-5754

EA

MFG - PART-NO

08-42-5755

QPL CODE
N P
STOP

QOPL CODE
N P
STRATOR, FRAME
QPL CODE
N P
STRIP

QPL CODE
N P

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

335

30

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0545

STOCK NO

08-42-5756

ALST2020

LONG DESCRIPTION

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

93
03/18/2020

1.01.00

USE YTD

08-42-5757

EA

MFG - PART-NO

08-42-5758

EA

MFG - PART-NO

08-42-5759

EA

MFG - PART-NO

08-42-5760

EA

MFG - PART-NO

08-42-5761

STRIP

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
STRIP

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
STRIP

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
STRIP, REINFORCEMENT

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
STUD

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
STUD, M12 X 9.685IN LG

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0551

STOCK NO

08-42-5762

N EW

ALST2020
COMMODTITY

LONG DESCRIPTION

STUD, M12 X 8.189IN LG

Y O RK CITY TRANGSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

94
03/18/2020

1.01.00

USE YTD

08-42-5763

EA

MFG - PART-NO

08-42-5764

EA

MFG - PART-NO

08-42-5765

EA

MFG - PART-NO

08-42-5766

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC.
SUBSTRATE, ALUMINA

QOPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
SUBSTRATE, ALUMINA

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
SUPPLY ADAPTOR MODULE AAL2

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
SUPPORT

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC

EA

MFG - PART-NO

08-42-5767

SUPPORT ASSEMBLY, C.A.B.L.5-1 AUXILIARY CONTACT

CODE

MEFG - NAME

QPL

N P

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

0557

STOCK NO

08-42-5768

N EW

ALST2020
COMMODTITY

LONG DESCRIPTION

SUPPORT BOLT

QPL CODE MEFG - NAME
N P

Y O RK

CITY TRANSTIT

MANAGEMENT

MATERIAL STANDARDS USAGE REPORT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

95
03/18/2020

1.01.00

USE YTD

08-42-5769

SUPPORT, AMIX

QOPL CODE MEFG - NAME
N P

EA

MFG - PART-NO

08-42-5770

SUPPORT, BUSBAR PIN

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5771

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5772

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5773

QPL CODE MFG - NAME
N P

SUPPORT, CAPACITOR

QOPL CODE MEFG - NAME
N P

SUPPORT, CAPACITOR

QPL CODE MFG - NAME
N P

SUPPORT, FABRICATED

QPL CODE MEFG - NAME
N P

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

10

00

10

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0563

STOCK NO

08-42-5774

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

96
03/18/2020

1.01.00

USE YTD

08-42-5775

EA

MFG - PART-NO

08-42-5776

EA

MFG - PART-NO

08-42-5777

EA

MFG - PART-NO

08-42-5778

EA

MFG - PART-NO

08-42-5779

SUPPORT, ISOLATING

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
SUPPORT, LEVEL 1

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
SUPPORT, LEVEL 2

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
SUPPORT, LEVEL 3

QOPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
SUPPORT, LEVEL 4

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
SUPPORT, RESISTOR

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0569

STOCK NO

08-42-5780

N EW Y O RK

ALST2020
COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

SUPPORT, RESISTOR/CAPACITOR

QPL

CODE

MEFG - NAME

U/M

EA

MFG - PART-NO

97
03/18/2020

1.01.00

USE YTD

08-42-5781

SWITCH GEAR & PROTECTION COMPONENTS

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-5782

SWITCH GEAR AND PROTECTION COMPONENTS

EA

MFG - PART-NO

08-42-5783

EA

MFG - PART-NO

08-42-5784

EA

MFG - PART-NO

08-42-5785

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
TERMINAL, BOX

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
TERMINAL, BOX

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
TERMINAL, INSULATION TUBES

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT
FILE-ID : ALST2020
PROG-ID : €

REC# STOCK NO  LONG DESCRIPTION

0575

08-42-5786

N EW Y O RK

COMMODTITY

CITY TRANGSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

MEFG - NAME

U/M

EA

MFG - PART-NO

98
03/18/2020

1.01.00

USE YTD

08-42-5787

ASSEMBLY (KIT OF

MFG - NAME

SEVENTEEN ITEMS,

ASSEMBLY REQUIRED)

MFG - PART-NO

08-42-5788

EA

MFG - PART-NO

08-42-5789

S/STEEL

(150MM X75MM)

MEFG - NAME

EA

PART-NO

08-42-5790

S/STEEL

(200MM X 10MM)

MFG - NAME

EA

PART-NO

08-42-5791

THRUST, WASHER
QPL CODE
N P

THYRISTOR, STACK
QOPL CODE
N P

TIE ROD

QPL CODE
N P
TIE, BAR FLAT
QOPL CODE
N P
TIE, BAR FLAT
QPL CODE
N P
TIE, BAR FLAT
QPL CODE
N P

S/STEEL

(200MM X 25MM)

MFG - NAME

ALSTOM TRANSPORTATION

EA

PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

08

00

00

00



USER-ID : SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 99
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0581 08-42-5792 TIE, BAR FLAT S/STEEL (400MM X 25MM) EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 51666.4724.P28

0582 08-42-5793 TIE, BAR FLAT S/STEEL (SPECIAL) EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 51159.5017

0583 08-42-5794 TRANSFORMER, CAN-N SOT223 2A 60V LLFET SMD (B4) EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. S4702902P0008

0584 08-42-5795 TRANSFORMER, NPN 2222A 0.5A 40V SOT23 SMD (B2) EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. S4703901P0002

0585 08-42-5796 TRANSFORMER, PNP 2907A 0, 6A 60V SOT223 SMD (B4) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. S4703902P0005

0586 08-42-5797 TRANSFORMER, PNP 2907A 0.5A 60V SOT23 SMD (A3) EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. S4703901P0003



USER-ID : SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 100
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

REC#

0587

STOCK NO

08-42-5798

08-42-5799

08-42-5800

08-42-5801

08-42-5802

08-42-5803

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

TRAY ASSEMBLY

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

TRIPPING BOX ASSEMBLY

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

TUBE, INSULATING

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

TUBE, INSULATING, POLYPROPYLENE

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

TUBE, INSULATING, POLYPROPYLENE

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

TULIP STRIP, RIGHT, 2X32 CONTACTS, W.E

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

U/M USE

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

USE YTD



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

0593

STOCK NO

08-42-5804

N EW

ALST2020
COMMODTITY

LONG DESCRIPTION

Y O RK

CITY TRANSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

TULIP STRIP, W.

QPL CODE
N P

E, 3X32 CONTACTS, RIGHT (E1l)

MEFG - NAME

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

101
03/18/2020

1.01.00

USE YTD

08-42-5805

TULIP STRIP, W.

QOPL CODE
N P

E 2X23 CONTACTS, RIGHT, (C9)

MEFG - NAME

EA

MFG - PART-NO

08-42-5806

TULIP STRIP, W.

QPL CODE
N P

E 2X23 CONTACTS, RIGHT, (F7)

MEFG - NAME

EA

MFG - PART-NO

08-42-5807

TULIP STRIP, W.

QOPL CODE
N P

E 2X23 CONTACTS, RIGHT, (H10)

MEFG - NAME

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5808

UNCONNECTED COMPONENT (B4)

QPL CODE
N P

MFG - NAME

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5809

UNCONNECTED COMPONENT (B9)

QPL CODE
N P

MEFG - NAME

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0599

STOCK NO

08-42-5810

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CITY TRANGSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

PAGE : 102

08-42-5811

EA

MFG - PART-NO

08-42-5812

EA

MFG - PART-NO

08-42-5813

EA

MFG - PART-NO

08-42-5814

EA

MFG - PART-NO

08-42-5815

UNCONNECTED COMPONENT (F11)

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
UPRIGHT

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
VARISTOR, VDR 440V (H6)

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
WARNING, LABEL HEAVY EQUIPMENT

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
WASHER, CRINKLE, GR A2-70SST, M3

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
WASHER, LOCK, CONICAL WITH STRIATIONS,
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION

M3.1, STEEL,

ZINC PLATED

EA

MFG - PART-NO

DATE 03/18/2020
VERSION 1.01.00
USE PYl USE YTD

00 00
00 00
00 00
00 00
00 00
254 100



LONG DESCRIPTION

Cs Mb X 1

CODE

N EW Y O RK

CITY TRANGSTIT

COMMODTITY

MANAGEMENT

AUTHORITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

2 X 1.1

MEFG - NAME

ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION

INC.
INC.

U/M

EA

MFG - PART-NO

0021257713
DTR0O009907283-A

FLAT,

CODE

A2-70 SST, Z3

MEFG - NAME

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

USER-ID : SPT
FILE-ID : ALST2020
PROG-ID : €

REC# STOCK NO

0605 08-42-5817 WASHER,

QPL
N
N
0606 08-42-5818 WASHER,
QPL
N
0607 08-42-5819 WASHER,
QPL
N
0608 08-42-5820 WASHER,
QPL
N
0609 08-42-5821 WASHER,
QPL
N

PLAIN 1/2

CODE

P

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE 103
DATE 03/18/2020
VERSION 1.01.00
USE PY2 USE PYl USE YTD
525 60 00
00 00 00
00 33 00
02 08 00
00 00 00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0610

STOCK NO

08-42-5823

ALST2020

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

GR A2-70 SST, M3

MEFG - NAME

ALSTOM TRANSPORTATION INC.

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

PAGE : 104

DATE 03/18/2020
VERSION 1.01.00
USE PYl USE YTD

08-42-5824

WASHER, PLAIN,
QPL CODE
_&_ __;_
WASHER, PLAIN,
QPL CODE
_&_ __;_

GR A2-70 SST, M5

MEFG - NAME

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

08-42-5825

WASHER, FLAT,
CARBON STEEL)

1/2", TYPE B, NARROW, ZN 12/D/FE

MEFG - NAME

ALSTOM TRANSPORTATION INC.

(12 MICRONS,

ZINC PLATED, CLEAR EA

MFG - PART-NO

0613

08-42-5826

QPL CODE
N P
WASHER, PLAIN,
QPL CODE
N P

NARROW, TYPE B, 0.75IN

MFG - NAME

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

0614

08-42-5827

WASHER, FLAT,
CARBON STEEL)

QPL

N P

CODE

5/16", TYPE B, NARROW, ZN 12/D/FE

MFG - NAME

ALSTOM TRANSPORTATION INC.

(12 MICRONS,

ZINC PLATED, CLEAR EA

MFG - PART-NO

00 00
00 10
600 00
00 00
00 00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0615

STOCK NO

08-42-5828

ALST2020

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

WASHER,

QPL

PLAIN,

CODE

TYPE A, M10

MEFG - NAME

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

EA

MFG - PART-NO

105
03/18/2020

1.01.00

USE YTD

08-42-5829

WASHER,

QOPL

PLAIN,

CODE

TYPE A, M12

MEFG - NAME

EA

MFG - PART-NO

08-42-5830

WASHER,

QPL

PLAIN,

CODE

TYPE A, M3

MEFG - NAME

EA

MFG - PART-NO

08-42-5832

WASHER,

QOPL

PLAIN,

CODE

TYPE A, M5

MEFG - NAME

EA

MFG - PART-NO

08-42-5833

WASHER,

QPL

PLAIN,

CODE

TYPE A, M5

MFG - NAME

EA

MFG - PART-NO

08-42-5835

WASHER,

QPL

PLAIN,

CODE

P

TYPE A, M8

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

99

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0621

STOCK NO

08-42-5836

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

106
03/18/2020

1.01.00

USE YTD

08-42-5837

EA

MFG - PART-NO

08-42-5838

EA

MFG - PART-NO

08-42-5839

EA

MFG - PART-NO

08-42-5840

EA

MFG - PART-NO

08-42-5841

WASHER, PLAIN, WIDE, M10

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
WASHER, PLAIN. TYPE A, M8

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
WASHER, SPHERICAL

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
WASHER, THRUST

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
WASHER, TYPE A, M5

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
WASHER, TYPE A, M4

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

15

00

00

00

00



USER-ID SPT NEW Y O R K CITY TRANSTIT AUTHORTITY PAGE 107
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY?2 USE PYl USE YTD
0627 08-42-5844 WASHER, TYPE C, z4 EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O009907083-A
0628 08-42-5845 WIRE WRAP, AWG26-350V WHITE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. S4031053P4803
0629 08-42-5869 TRANSDUCER, AC CURRENT EA 13 04 01
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000102664
0630 08-42-5872 CONNECTION ASSEMBLY, HIGH SPEED CIRCUIT BREAKER FOR PROPULTION SYSTEM EA 05 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000017900-B
0631 08-42-6021 DISPLAY SIGNAL, 4 CHARACTER (B3) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTRO000199486-A
0632 08-42-6026 KIT, RESISTOR MOUNTING EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000261825-A



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

0633

STOCK NO

08-42-6027

N EW Y O RK

ALST2020

CITY TRANOSTIT

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

KIT, RESISTOR MOUNTING

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

MANAGEMENT

AUTHORITY

SYSTEM

U/M

EA

MFG - PART-NO

108
03/18/2020

1.01.00

USE YTD

08-42-6028

RESISTOR, 100w 47 OHM

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-6029

RESISTOR, 25W 3.3 K OHM

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-6030

RESISTOR, 25W 47 OHM

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-6057

COLLAR, UNFLANGED 3/8

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

08-42-6058

HUCKBOLT, 3/8

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

01

01

01

00

00



USER-ID : SPT
FILE-ID ALST2020

PROG-ID : €

N EW Y O RK

CITY TRANSTIT

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M USE

EA

MFG - PART-NO

PY2

109
03/18/2020

1.01.00

USE YTD

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

REC# STOCK NO LONG DESCRIPTION
0639 08-42-6060 JUMPER, CABLE LINK

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
0640 08-42-6063 MOUNT, INDUCTOR

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
0641 08-42-6064 MOUNTING, BRKT WELDMENT

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
0642 08-42-6066 PLATE, IDENTIFICATION

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
0643 08-42-6068 WASHER, BELLEVILLE 1/2

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
0644 08-42-6072 WASHER, SPHERICAL 1/2

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT
FILE-ID

PROG-ID : €

REC# STOCK NO

0645 08-42-6262

ALST2020

LONG DESCRIPTION

RESISTOR, CAPACITOR SHARING, 18000 OHMS (6000 OHMS PER SECTION).

N EW Y O RK

COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

CORE, SMOOTHWOUND RESISTOR ELEMENT

QOPL CODE
N P

MFG - NAME

ALSTOM TRANSPORTATION INC.

U/M

PORCELAIN EA

MFG - PART-NO

PAGE : 110
DATE : 03/18/2020

0646 08-42-6265

DIODE, 40A, 200V,

QPL CODE
N P

MEFG - NAME

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

0647 08-42-6328

RESISTOR, RS71Y 0.5W 28.7KOHM 0.5

QOPL CODE
N P

MEFG - NAME

PERCENT (K10)

EA

MFG - PART-NO

0648 08-42-6375

SCREW, PHILLIPS,

QPL CODE
N P

6-32 X 0.50 IN LG, PAN HEAD, GR ZN

MFG - NAME

EA

MFG - PART-NO

0649 08-42-6376

SCREW, PHILLIPS,

QPL CODE
N P

8-32 X 0.50 IN LG, PAN HEAD, GR ZN

MFG - NAME

EA

MFG - PART-NO

VERSION 1.01.00
USE PY2 USE PY1 USE YTD
54 13 08
00 00 00
00 10 00
00 00 00
00 00 00



USER-ID : SPT NEW YORK CITY TRANSIT AUTHORTITY PAGE 111
FILE-ID : ALST2020 DATE : 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO  LONG DESCRIPTION U/M USE PY2 USE PYl USE YTD
0650 08-42-7453 CABLE, CODA-EXT1 EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000088954-A
0651 08-42-7455 CABLE, TEST EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000088956-A
0652 08-42-7592 TRACTION MOTOR BUSHING REPLACEMENT KIT ALL POSITIONS FOR FMI 10130.8107 POINT KT 00 00 00
1, 2, 3
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR000122864-A
N P ALSTOM TRANSPORTATION INC. TR02-099.636/100 REF. ONLY
0653 08-42-7593 SCREW, CAP, SPECIAL, 7/8 -9 X 8 INCHES LONG UNC, HEX HEAD, GRADE 5 EA 1,575 225 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000122876
N P ALSTOM TRANSPORTATION INC. TRO3-833.201/001 (FOR REF. ONL)
0654 08-42-7594 WASHER, SPHERICAL, SPECIAL EA 1,575 225 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000122872
N P ALSTOM TRANSPORTATION INC. TRO3-513.114/001 (FOR REF. ONLY)



USER-ID : SPT
FILE-ID : ALST2020

PROG-ID : €

REC#

0655

N EW Y O RK

CITY TRANSTIT

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

STOCK NO LONG DESCRIPTION

08-42-7595 WASHER, CONICAL, SPECIAL

QPL CODE
N P
N P

MEFG - NAME

ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION

INC.
INC.

MANAGEMENT

AUTHORTITY

SYSTEM

U/M USE PY2

EA 1,575

MFG - PART-NO

DTR0000122874

TRO3-513.117/001 (FOR REF.

PAGE : 112
DATE : 03/18/2020

VERSION 1.01.00

08-42-7596 SLEEVE, EXPANSION

QPL CODE
N P
N P

MEFG - NAME

ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION

INC.
INC.

EA 1,575

DTR0000122860

TRO2-099.636/004 (FOR REF.

08-42-7597 WASHER, FLAT,
QPL CODE
N P
N P

SPECIAL

MEFG - NAME

ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION

INC.
INC.

EA 1,575

DTR0000122861

TR02-099.636/005 (FOR REF.

08-42-7598 LOCKNUT, 7/8"
QOPL CODE
N P
N P

UNC

MEFG - NAME

ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION

INC.
INC.

EA 1,575

DTR0000122862

TR02-099.636/006 (FOR REF.

08-42-7599 COTTER, PIN, V4-36

QPL CODE
N P
N P
N P

MFG - NAME

ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION

INC.
INC.
INC.

EA 1,575

DTR0O000005091
DTR0O000005091-A

TR0O2-099.636/007 (FOR REF.

225 00
ONLY)

225 00
ONLY)

225 00
ONLY)

225 00
ONLY)

235 00
ONLY)



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0660

STOCK NO

08-42-7600

ALST2020

LONG DESCRIPTION

KIT,
QPL CODE
N P
N P

BEARING CAVITY REPLACEMENT,

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

FOR

MEFG - NAME

ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION

CITY TRANSTIT

MANAGEMENT

TRACTION MOTOR 4 LCA 1640

INC.
INC.

AUTHORTITY

SYSTEM

08-42-7601

DEFLECTOR COVER,

QPL CODE
N P
N P

INNER O D E

MEFG - NAME

ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION

INC.
INC.

08-42-7602

DEFLECTOR COVER,

QPL CODE
N P
N P

OUTER O D E

MEFG - NAME

ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION

INC.
INC.

08-42-7603

DEFLECTOR COVER,

QOPL CODE
N P
N P

INNER DE

MEFG - NAME

ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION

INC.
INC.

08-42-7604

DEFLECTOR COVER,

QPL CODE
N P
N P

OUTER D E

MFG - NAME

ALSTOM TRANSPORTATION
ALSTOM TRANSPORTATION

INC.
INC.

U/M USE PY2

KT 00
MFG - PART-NO
DTR0000122878-A
TROS-907.629 (FOR REF. ONLY

EA 00
MEFG - PART-NO
DTR0000122865-A
TRO2-507.363/001 (FOR REF.

EA 00
MFG - PART-NO
DTR0000122867-A
TRO2-507.365/001 (FOR REF.

EA 00
MFG - PART-NO
DTR0000122866-A
TRO2-507.364/001

EA 00
MFG - PART-NO
DTR0000122868-A
TRO2-507.366/001 (FOR REF.

PAGE 113
DATE 03/18/2020
VERSION 1.01.00
USE PYl USE YTD
00 00
)
00 00
ONLY)
00 00
ONLY)
00 00
00 00
ONLY)



USER-ID : SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 114
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO

LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0665 08-42-7605 DEFLECTOR, TURNING EA 210 239 67
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 505.677.001
N P ALSTOM TRANSPORTATION INC. DTR0000122870
N P ALSTOM TRANSPORTATION INC. TRO3-505.677/001 (FOR REF. ONLY)

0666 08-42-7607 SHEET, CLOSING EA 00 00 00
QOPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000122875-A
N P ALSTOM TRANSPORTATION INC. TRO3-800.496/001 (FOR REF. ONLY)

0667 08-42-7608 SHEET, DEFLECTOR EA 3,300 3,220 329
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000122869
N P ALSTOM TRANSPORTATION INC. TR0O2-800.868/001 (FOR REF. ONLY)

0668 08-42-7609 GASKET, INNER DEFLECTOR COVER EA 3,300 3,220 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000122877
N P ALSTOM TRANSPORTATION INC. TRO3-840.085/001 (FOR REF. ONLY)

0669 08-42-7610 GREASE OUTLET, SHEET EA 39 40 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000122855-A
N P ALSTOM TRANSPORTATION INC. TRO3-801.395/100 REF.ONLY



USER-ID SPT
FILE-ID ALST2020

PROG-ID : €

N EW Y O RK

COMMODTITY

CITY TRANSTIT

AUTHORTITY

MANAGEMENT SYSTEM

MATERIAL STANDARDS USAGE REPORT

U/M USE

EA

MFG - PART-NO

PY2

(FOR REF.

(FOR REF.

REC# STOCK NO  LONG DESCRIPTION
0670 08-42-7611 O-RING, SEAL, 0.079" X 4.41"
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION
N P ALSTOM TRANSPORTATION
0671 08-42-7612 RIVET, PIP, 4.8 X 19.5, TYPE 321 ST
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION
N P ALSTOM TRANSPORTATION
0672 08-42-7642 CAPACITOR, 68 MF 75 V HIGH TEMPERATURE
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION
0673 08-42-7647 WASHER, LOCK, NO.10, SPLIT RING, 2N,
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION
0674 08-42-7648 WASHER, PLAIN, NO.10, ZN, U/O HIGH
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

INC. DTR0000122858
INC. TRO0-002.533/039
EA
MFG - PART-NO
INC. DTR0000122859-A
INC. TRO0-431.663/013
EA
MFG - PART-NO
INC DTR0000261823-A
U/0 HIGH SPEED CIRCUIT BREAKER PANEL EA
MFG - PART-NO
INC DTR0000262744-A
SPEED CIRCUIT BREAKER PANEL EA
MFG - PART-NO
INC DTR0000262741-A

PAGE 115
DATE 03/18/2020
VERSION 1.01.00
USE PYl USE YTD
3,220 00
ONLY)
00 00
ONLY)
01 00
00 00
00 00



PAGE : 116
DATE

VERSION

03/18/2020
1.01.00

USER-ID SPT N EW Y O RK CITY TRANOSTIT AUTHORITY
FILE-ID ALST2020
PROG-ID : € COMMODTITY MANAGEMENT SYSTEM
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M
0675 08-42-7649 WASHER, LOCK, NO.8, SPLIT RING, ZN, U/O HIGH SPEED CIRCUIT BREAKER PANEL EA
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000262743-A
0676 08-42-7650 WASHER, PLAIN, NO.8, ZN, U/O HIGH SPEED CIRCUIT BREAKER PANEL EA
QOPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000262740-A
0677 08-42-7651 RELAY, 36 VOLTS, DC COL, 4 NO/NC, 10 AMPS FOR HIGH SPEED CIRCUIT BREAKER EA
CONTROL PANEL
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000261822-A
0678 08-42-7656 PLUG, QIKMATE, CABLE WITHOUT STRAIN RELIEF HOOD, USED ON LC PANEL; CARBODY EA
SIDE; 24 PIN CONNECTOR
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O009903222-A
0679 08-42-7677 ELECTROMAGNET CITI 33 V/DC, (ACTUATOR ASSEMBLY), ON ELECTROMAGNET ASSEMBLY ON EA

THE R142 HIGH

CODE

QPL

N P

SPEED CIRCUIT BREAKER

MFG - NAME

ALSTOM TRANSPORTATION INC.

MFG - PART-NO

00 00
00 00
00 00
31 00
00 00



USER-ID : SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 117
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD
0680 08-60-0350 CONTROL WIRE HARNESS FOR MASTER CODE EA 01 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000272489-A
0681 08-60-0397 SCREW, HEX HEAD, M5 X 14MM, STAINLESS STEEL, A2, USED FOR CONTACTOR PANEL EA 00 00 10
ASSEMBLY
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000442079
0682 08-60-0398 SCREW, HEX HEAD, M4 X 1eMM, A2, STAINLESS STEEL, USED ON CONTACTOR EA 05 00 00

PANEL ASSEMBLY

QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000442078

0683 08-60-0399 SCREW, HEX HEAD, M6 X 75, A2, STAINLESS STEEL, USED ON CONTACTOR PANEL ASSEMBLY EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 0500811

0684 08-60-0400 SEAL RING, PG9/LINE CONTACTOR ASSEMBLY EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. DTR0000069971



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0685

STOCK NO

08-60-0401

08-60-0402

08-60-0403

08-60-0404

08-60-0405

08-60-0406

ALST2020

LONG DESCRIPTION

E W Y O RK CITY TRANSTIT AU

COMMODTITY MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

THORTITY

Y STEM

U/M

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00

118
03/18/2020

1.01.00

USE YTD

NUT, LOCK, PG9, NICKEL PLATED BRASS/LINE CONTACT ASSEMBLY EA
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC DTR0O000069972
CABLE, GLAND PG9, NICKEL PLATED BRASS/LINE CONTACTOR ASSEMBLY EA
QOPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC DTR0O000095693
CABLE, GLAND PG 29, NICKEL PLATED BRASS/CONTACTOR AREA INSTALLATION EA
QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC DTR0O000095698
NUT, LOCK, PG29, NICKEL PLATED BRASS, USED ON LINE CONTACTOR INSTALLATION EA
QOPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC DTR0O000052155
SEAL RING, PG29, USED ON LINE CONTACTOR ASSEMBLY EA
QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. DTRO000064937
PLATE, POLE USED ON HIGH SPEED CIRCUIT BREAKER ASSEMBLY EA
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. DTR0000191844-B



USER-ID
FILE-ID

PROG-ID : €

SPT

ALST2020

LONG DESCRIPTION

AUXILIARY CONTACT,

QPL

N P

CODE

N

E

C.A.B.L.5-1,

W Y O RK

COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

MEFG - NAME

ALSTOM TRANSPORTATION

USED ON HIGH SPEED CIRCUIT BREAKER ASSEMBLY

U/M

EA

MFG - PART-NO

119
03/18/2020

1.01.00

USE YTD

LEVER, USED ON HIGH SPEED CIRCUIT

QOPL CODE
N P

MEFG - NAME

BREAKER ASSEMBLY

EA

MFG - PART-NO

RACK, USED ON HIGH SPEED CIRCUIT

QPL CODE
N P

MEFG - NAME

ALSTOM TRANSPORTATION

BREAKER ASSEMBLY

EA

MFG - PART-NO

SPRING, USED ON HIGH SPEED CIRCUIT

MFG - NAME

BREAKER ASSEMBLY

EA

MFG - PART-NO

HIGH SPEED CIRCUIT

MFG - NAME

ALSTOM TRANSPORTATION

BREAKER ASSEMBLY

EA

MFG - PART-NO

fEcr e e

0691 08-60-0407
0692 08-60-0408
0693 08-60-0410
0694 08-60-0411
0695 08-60-0413
0696 08-60-0414

QPL CODE
N P
STOP, USED ON
QPL CODE
N P

PLATE,
QPL CODE
N P

LOWER PROTECTION, USED ON HIGH

MEFG - NAME

ALSTOM TRANSPORTATION

SPEED CIRCUIT BREAKER ASSEMBLY

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

03

00

335

335

02



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0697

STOCK NO

08-60-0415

08-60-0416

08-60-0417

08-60-0418

08-60-0419

08-60-0420

ALST2020

LONG DESCRIPTION

N EW Y O RK

COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

U/M

PAGE
DATE
VERSION

USE PY1

00

21

00

00

670

335

120
03/18/2020

1.01.00

USE YTD

PTCR PANEL ASSEMBLY, USED ON SUPERVISOR FRAME ASSEMBLY INSTALLATION EA
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC AW00000005601
ELECTROMAGNET ASSEMBLY, USED ON HIGH SPEED CIRCUIT BREAKER ASSEMBLY EA
QOPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC DTR0000091046-C
TRIPPING BOX ASSEMBLY ON HIGH SPEED CIRCUIT BRAEKER EA
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC DTRO000081778-B
NEEDLE ROUND, D6-59, 8 G2 HN, USED ON TRIPPING BOX ASSEMBLY FOR HSCB EA
QOPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC DTR0000046002
NEEDLE, BUSHING, HK 6-10-8, USED ON TRIPPING BOX ASSEMBLY FOR HSCB EA
QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC DTR0023414552
NEEDLE, TRIPPING LEVER, DIA 5-25, 8 G2, USED ON TRIPPING BOX ASSEMBLY FOR HSCB EA
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. DTR0000045380



USER-ID : SPT NEW Y O R K CITY TRANSTIT AUTHORTITY PAGE : 121
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0703 08-60-0421 CAM 18-36, USED ON TRIPPING BOX ASSEMBLY FOR HSCB EA 27 335 100
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0009113218-B

0704 08-60-0423 SPRING AXLE, USED ON TRIPPING BOX ASSEMBLY FOR HSCB EA 01 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000047709-A

0705 08-60-0425 CONNECTOR, FEMALE, CRIMP, 48 CONTACTS, USED ON SUPERVISOR FRAME ASSEMBLY EA 00 00 00
INSTALLATION
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000031872

0706 08-60-0426 SUPERVISOR FRAME ASSEMBLY, USED FOR SUPERVISOR AREA INSTALLATION EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC AW00000002760

0707 08-60-0465 SCREW, HSF, M4 X 12, ZN, 0.15 EA 00 125 00
QPL CODE MFG - NAME MFG - PART-NO



USER-ID : SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 122
FILE-ID : ALST2020 DATE : 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD
0708 08-60-0466 NUT, SPLIT LOCKING, HEX M4, ZN, 0.15 EA 00 175 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT DTR0O008907737
0709 08-60-0467 HOLDING PIECE, ON ELECTROMAGNET ASSEMBLY ON THE ALSTOM HIGH SPEED EA 00 00 00

CIRCUIT BREAKER

QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000050045
0710 08-60-0469 SCREW, SET, FLAT HEX SOCKET HEAD, M4 X 12 MM LONG, GEOMET 321 BLACK PHOSPHATE EA 00 00 00

ENRICHED FINISH

QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0021531586
0711 08-60-0480 INSULATOR, STANDOFF 1/2-13 F X 1/2-13 F, 2.25 TALL EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000065880
0712 08-60-2218 CONNECTOR, FIXED, 19 WAY (AB CONNECT) USED ON HIGH SPEED CIRCUIT BREAKER EA 00 00 00
ASSEMBLY
QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. DTR0025132AA1



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0713

STOCK NO

08-60-2219

ALST2020

LONG DESCRIPTION

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

MEFG - NAME

ALSTOM TRANSPORTATION

CITY TRANSTIT

CABLE USED ON HIGH SPEED CIRCUIT BREAKER ASSEMBLY

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

123
03/18/2020

1.01.00

USE YTD

08-60-2220

CLAMP,
QPL CODE
_&_ __;_
NEEDLE,

QPL CODE
_&_ __;_

USED ON HIGH SPEED CIRCUIT

MEFG - NAME

BREAKER ASSEMBLY

EA

MFG - PART-NO

08-60-2221

PIN, UNTHREADED,

QPL CODE
N P

ON ALSTOM HIGH SPEED

MEFG - NAME

CIRCUIT BREAKER

EA

MFG - PART-NO

09-42-3011

GLAND PLATE

QOPL

CODE

EA

MFG - PART-NO

09-42-3012

VOLTAGE REGULATOR MC7815BT

QPL CODE
N P

MFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

09-42-3013

VOLTAGE REGULATOR MC7912BT

CODE

QPL

N P

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

335

00

00

00



USER-ID
FILE-ID

PROG-ID : €

SPT

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

124
03/18/2020

1.01.00

USE YTD

PLATE, GLAND, TRUCK NO 1, A CAR

QPL CODE MFG - NAME

_&_ __;_ gigégé_;ggNSPORTATION
PLATE, GLAND, TRUCK NO 2, A CAR

QPL CODE MFG - NAME

Bl P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PRINTED CIRCUIT BOARD

QPL

CODE

MEFG - NAME

EA

MFG - PART-NO

RETAINER

QOPL

EA

MFG - PART-NO

SOLDERED

QPL

INSERT

CODE

EA

MFG - PART-NO

fEcr e e

0719 09-42-3014
0720 09-42-3015
0721 09-42-3016
0722 09-42-3017
0723 09-42-3018
0724 09-42-3019

SPACER

QPL

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT
FILE-ID : ALST2020
PROG-ID : €

REC# STOCK NO  LONG DESCRIPTION

0725

09-42-3020

N EW Y O RK CITY TRANSTIT AU

COMMODTITY MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

ALSTOM TRANSPORTATION INC.

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

125
03/18/2020

1.01.00

USE YTD

09-42-3021

DS2

MEFG - NAME

EA

MFG - PART-NO

09-42-3022

STRAP, CONFIG
QPL CODE

N P
SUPPORT, LED DS1,
QPL CODE

N P
TRANSFORMER

QPL CODE

N P

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

09-42-3027

RING, RETAINING, USED ON ELECTRO-MAGNET ASSEMBLY OF HIGH SPEED CIRCUIT BREAKER

MEFG - NAME

EA

MFG - PART-NO

09-42-3028

USED ON ELECTRO-MAGNET

MFG - NAME

ALSTOM TRANSPORTATION

ASSEMBLY OF HIGH SPEED CIRCUIT BREAKER

EA

MFG - PART-NO

09-42-3032

QPL CODE
N P
WASHER, STOP,
QPL CODE
N P

WASHER,
QPL CODE
N P

DISHED, USED ON ELECTRO-MAGNET

MEFG - NAME

ALSTOM TRANSPORTATION

ASSEMBLY OF HIGH SPEED CIRCUIT BREAKER

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

335

690

00



Y TRANSTIT

MANAGEMENT

AUTHORITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

U/M

EA

MFG - PART-NO

STAINLESS STEEL

EA

MFG - PART-NO

EA

MFG - PART-NO

USER-ID : SPT NEW YORZK CIT
FILE-ID : ALST2020
PROG-ID : € COMMODTITY
REC# STOCK NO  LONG DESCRIPTION
0731 09-42-3036 SCREW, CAP, 1/4-28 X 5/8 LG, SST
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION INC.
0732 09-42-3037 SCREW, CAP, HEX HEAD, 1/2-13 X 1 3/8"  LONG,
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION INC.
0733 09-42-3038 SCREW, HEX HEAD, CAP, 8-32 X 1/2 INCH  LONG,
ASSEMBLY
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION INC
0734 09-42-3039 WASHER, PLAIN, # 8, TYPE B NARROW, SST
QPL CODE MFG - NAME
N 2 ALSTOM TRANSPORTATION INC
0735 09-42-3040 NUT, HEX, #8-32, SST
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION INC

EA

MFG - PART-NO

PAGE 126

DATE 03/18/2020

VERSION 1.01.00
USE PY2 USE PYl USE YTD
30,960 58,950 10,800
100 02 00
06 35 00
100 100 00
20 100 00



USER-ID : SPT NEW YORK CITY TRANSIT AUTHORTITY PAGE : 127
FILE-ID : ALST2020 DATE : 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO  LONG DESCRIPTION U/M USE PY2 USE PYl USE YTD
0736 09-42-3041 WASHER, PLAIN, #10, TYPE B NARROW, SST EA 00 60 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000065637
0737 09-42-3042 NUT, HEX, # 10-32. SST EA 00 20 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000065635
0738 09-42-3043 SCREW, HEX HEAD, CAP, 10-32 X 1/2 INCH LONG, SST, U/O THE CAPACITOR BANK EA 50 52 00
ASSEMBLY
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTRO000064870-A
0739 09-42-3045 SCREW, NYLON, M5 X 30MM EA 01 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0021555257-A
0740 09-42-3046 WASHER, BELLEVILLE, #8, SST EA 2,701 13,100 2,400
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTRO000033038-A
0741 09-42-3049 WASHER, SPECIAL, SQUARE SPACER, HEAT SINK EA 326 60 10
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000273178-A



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

0742

STOCK NO

09-42-3053

N EW Y O RK

ALST2020

CITY TRANSTIT

COMMODTITY MANAGEMENT

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

NUT, SQUARE, M8

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

128
03/18/2020

1.01.00

USE YTD

09-42-3055

NUT, FLEXLOC, HEX, #8-32, SST

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

09-60-0004

INVERTER MODULE

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

09-60-0006

TRACTION INVERTER, MASTER CASE, ALSTOM

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

PROPULSION SYSTEM

EA

MFG - PART-NO

09-60-0007

TRACTION INVERTER, SLAVE CASE, ALSTOM

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

PROPULSION SYSTEM

EA

MFG - PART-NO

09-60-0008

RATIL GAP CASE

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

05

00

22

10

08

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0748

STOCK NO

09-60-0009

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

POSITIVE TEMPERATURE COEFFICIENT
BOARD)

CITY TRANSTIT

MANAGEMENT

RESISTORS PTCR-PANEL

AUTHORTITY

SYSTEM

U/M

(PRINTED CIRCUIT EA

MFG - PART-NO

129
03/18/2020

1.01.00

USE YTD

09-60-0011

QOPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
INPUT AC CURRENT MONITORING DEVICE

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

09-60-0012

LINE CAPACITOR BANK, 64 MF, FOR ALSTOM

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

PROPULSION

EA

MFG - PART-NO

09-60-0013

AC TRACTION MOTOR 4LCA1640A

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

09-60-0015

OPEN LOOP CURRENT MONITOR DEVICE

QPL

N P

CODE

MFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

02

02

218

26

92



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0753

STOCK NO

09-60-0017

N EW Y O RK

ALST2020

CITY TRANSTIT

COMMODTITY

MANAGEMENT

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

DISTRIBUTION PANASONICEL

QPL

N P

CODE

MEFG - NAME

ALSTOM TRANSPORTATION

09-60-0020

VOLTAGE MONITORING DEVICE

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

09-60-0021

CURRENT MONITOR DEVICE

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION
N P ALSTOM TRANSPORTATION

INC.
INC.

0756

09-60-0022

HSCB CONTROL PANASONICEL

0757

09-60-0024

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
PCE CONVERTER CONTROL UNIT RACK

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION

0758

09-60-0025

SUPERVISOR, ALSTOM PROPULSION

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
N P ALSTOM TRANSPORTATION
N P ALSTOM TRANSPORTATION

INC.
INC.
INC.

AUTHORTITY PAGE 130
DATE 03/18/2020
SYSTEM VERSION 1.01.00
U/M USE PY?2 USE PYl USE YTD
EA 01 05 00
MFG - PART-NO
DTR0O000066421
EA 70 63 10
MFG - PART-NO
DTR0000195254
EA 106 156 13
MFG - PART-NO
DTR0O000077105
DTRO000445626
EA 01 01 01-
MFG - PART-NO
DTRO000078659-N
EA 37 78 25
MFG - PART-NO
TRVP060627000
EA 45 65 09

MFG - PART-NO

DTR0000249304
TRVP06094000 (FOR REF ONLY)
TRVP060940000 (FOR REF. ONLY)



USER-ID : SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 131
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO  LONG DESCRIPTION U/M USE PY2 USE PYl USE YTD
N P ALSTOM TRANSPORTATION INC. TRVP060941000 (FOR REF. ONLY)

0759 09-60-0037 CONTACTS, FIXED, FOR HIGH SPEED CIRCUIT BREAKERS, ALSTOM PROPULSION EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR009113205-A
N P ALSTOM TRANSPORTATION INC. TRK6639801000

0760 09-60-0046 RAIL GAP MODULE, ALSTOM PROPULSION SYSTEM EA 01 07 01-
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. ANR0000004985
N P ALSTOM TRANSPORTATION INC. DTR0000191691-A

0761 09-60-0060 CIRCUIT BREAKER, HIGH SPEED, FOR ALSTOM PROPULSION EA 12 09 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000057162
N P ALSTOM TRANSPORTATION INC. TRK5648893000

0762 09-60-0073 BEARING ASSEMBLY, TAIL, RIGHT HAND EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. AW00000005841+4819-0575-501M

0763 09-60-0161 SUPERVISOR FAN ASSEMBLY, COMPLETE READY TO INSTALL EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. DTR0000263170



USER-ID : SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 132
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0764 09-60-0162 SUPERVISOR FAN, (ONLY) EA 00 02 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000092713

0765 09-60-0163 CAPACITOR, FOR INVERTER MODULE SNUBBER CAPACITOR ASSEMBLY EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. TGLS303746000

0766 09-60-0164 GASKET, FOR HIGH SPEED CIRCUIT BREAKER COVER EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. AW00000002764

0767 09-60-0165 SUPERVISOR BATTERY EA 09 12 06
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000043623

0768 09-60-0192 PIN, SPRING, 1/8 INCH DIAMETER, 1 INCH LONG, STAINLESS STEEL, FOR CAPACITOR EA 2,680 13,100 2,400
BANK
QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. DTR0000096523



USER-ID
FILE-ID

PROG-ID

REC# STOCK NO

0769 09-60-0199

SPT
ALST2020

o

RUBBER GROMMET,

QOPL CODE
N P

LONG DESCRIPTION

N

E

W Y O RK

COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

GROMMET FOR CAPACITOR BANK, SHIP WITH
EACH SHIPMENT MUST HAVE DIELECTRIC TEST CERTIFICATE

MFG - NAME

ALSTOM TRANSPORTATION

DATE CODE,

U/M USE

EXPIRY STAMP AND P/N ON

MFG - PART-NO

PY2

PAGE
DATE

VERSION

USE PY1

25,330

133
03/18/2020

1.01.00

USE YTD

5,400

0770 09-60-0200

QPL CODE
N P

LEXAN COVER FOR CAPACITOR BANK

MEFG - NAME

ALSTOM TRANSPORTATION

MFG - PART-NO

0771 09-60-0201

QOPL CODE
N P

MOLDING FOR CAPACITOR TRUCK

MEFG - NAME

ALSTOM TRANSPORTATION

MFG - PART-NO

0772 09-60-0208

QPL CODE
N P

FRAME ASSEMBLY FOR THE CAPACITOR BANK

MFG - NAME

ALSTOM TRANSPORTATION

MFG - PART-NO

0773 09-60-0209

QPL CODE
N P

BUSBAR, LAMINATED,

FOR THE CAPACITOR

MFG - NAME

MFG - PART-NO

0774 09-60-0210 BOLT, SUPPORT

QPL CODE
N P

FOR THE CAPACITOR BANK

MFG - NAME

ALSTOM TRANSPORTATION

MFG - PART-NO



USER-ID
FILE-ID

PROG-ID : €

SPT

N EW Y O RK

ALST2020

CITY TRANGSTIT

COMMODTITY

MANAGEMENT

AUTHORITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CAPACITOR, CONVERSION LAMINATE BUSBAR

U/M

EA

MFG - PART-NO

134
03/18/2020

1.01.00

USE YTD

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

fEr e e

0775 09-60-0227
0776 12-42-3002
0777 12-42-3003
0778 12-42-3010
0779 12-42-3011
0780 12-42-3021

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC.
COMPLETE TRACTION MOTOR, W/COUPLING 1/2 INSTALLED
QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC.
COUPLING, FLEXIBLE, ASSEMBLIES COMPLETE
QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
CHUTE, ARC, CAPACITOR DISCHARGE

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC
GATE DRIVE, AMIX

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
MODULE, POWER, AMIX GATE DRIVE

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INC

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

86

00

00

00

22



USER-ID SPT NEW Y O R K CITY TRANGSTIT AUTHORTITY PAGE 135
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION 1.01.00

MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PYl USE YTD
0781 12-42-3048 CLAMP, SADDLE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000262341-A
0782 12-42-3165 WASHER, 5/16, TYPE CS, ZN 12/D.FE, (12 MICRONS, ZINC PLATED, CLEAR CARBON EA 2,100 00 00
STEEL)
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000137533
0783 12-42-3200 CAP, SAFETY. TO LOCK SCREWS 08-42-5663 ON MOUNTING BRACKET/TRACTION MOTOR EA 00 00 00
ASSEMBLY
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000128007
0784 12-60-0004 GEAR BOX FOR TRACTION MOTOR, ALSTOM PROPULSION SYSTEM EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 00101-00-001
0785 12-60-0018 GASKET EA 1,450 1,300 600
QOPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000278927



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0786

STOCK NO

12-60-0020

N EW

ALST2020
COMMODTITY

LONG DESCRIPTION

Y O RK CITY TRANSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

PAGE
DATE

VERSION

136
03/18/2020

1.01.00

USE YTD

12-60-0022

MEFG - NAME

SEAL RING

QPL CODE

_&_ __;_

NIPPLE, TYPE A (1/8")
QPL CODE

_&_ __;_

EA

MFG - PART-NO

12-60-0023

ZN 12/D/FE

MEFG - NAME

EA

MFG - PART-NO

12-60-0024

WASHER, VS, M 8,
QPL CODE
_ﬁ_ __;_
HEX HEAD SCREW,
QPL CODE
_&_ __;_

1/4-20 X 1/2"-8.8-2ZN 12/D/FE

MEFG - NAME

EA

MFG - PART-NO

12-60-0025

EA

MFG - PART-NO

12-60-0026

WASHER, VS, M 6, ZN 12/D/FE

QPL CODE MFG - NAME

_ﬁ_ __;_ gigégé_;ggNSPORTATION INC.

HEX SOCKET HEAD CAP SCREW, 3/8-16 X 1-1/4"-12.9-ZN 12/D/FE
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO



USER-ID SPT NEW Y O R K CITY TRANSTIT AUTHORITY PAGE 137
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1l USE YTD
0792 12-60-0027 WASHER, VS, M 10, ZN 12/D/FE EA 3,150 3,900 1,800
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000280527
0793 12-60-0028 HEX HEAD SCREW, 1/2-13 X 1 1/2"-8.8-ZN 12/D/FE EA 8,400 10,400 4,800
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000280516
0794 12-60-0029 SPLIT LOCK WASHER, 1/2"-MEDIUM-ZN 12/D/FE EA 13,800 15,600 4,800
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000280529
0795 12-60-0031 PLAIN WASHER, 1/4" TYPE B NARROW-ZN 12/D/FE EA 20,300 23,899 2,701
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000280531
0796 12-60-0032 HEX HEAD SCREW, 1/2-13 X 2 3/4"-8.8-ZN 12/D/FE EA 5,400 5,159 41
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000280513
0797 12-60-0033 HEX SOCKET HEAD CAP SCREW, 5/16-18 X 3/4"-12.9-ZN 12/D/FE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000280517-A



USER-ID : SPT
FILE-ID : ALST2020
PROG-ID : €

REC# STOCK NO  LONG DESCRIPTION

0798

12-60-0034

SOCKET HEAD CAP SCREW,

N EW Y O RK CITY TRANSTIT AU

COMMODTITY MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

5/16-18 X 3/4"-12.9-ZN 12/D/FE

MEFG - NAME

ALSTOM TRANSPORTATION INC.

THORITY

Y STEM

U/M

EA

MFG - PART-NO

PAGE
DATE

VERSION

138
03/18/2020

1.01.00

USE YTD

12-60-0035

SOCKET HEAD CAP SCREW,

1/4-20 X 1 3/4"-12.9-2ZN 12/D/FE

MEFG - NAME

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

12-60-0036

5/16-18 X 1/2"-8.8-ZN 12/D/FE

MEFG - NAME

ALSTOM TRANSPORTATION INC.

EA

MFG - PART-NO

12-60-0037

5/16-18 X 2"-8.8-2ZN 12/D/FE

MEFG - NAME

EA

MFG - PART-NO

12-60-0038

EA

MFG - PART-NO

12-60-0042

HEX

QPL CODE
N P
HEX

QOPL CODE
N P
HEX HEAD SCREW,
QPL CODE
N P
HEX HEAD SCREW,
QOPL CODE
N P
PINION

QPL CODE
N P

BULL GEAR

QPL CODE
N P

EA

MFG - PART-NO



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0804

STOCK NO

12-60-0045

N EW

ALST2020
COMMODTITY

LONG DESCRIPTION

PLUG ASSEMBLY, OBSERVATION HOLE

Y O RK

CITY TRANSTIT AU

MANAGEMENT

MATERIAL STANDARDS USAGE REPORT

THORTITY

SYSTEM

U/M

EA

MFG - PART-NO

PAGE
DATE

VERSION

139
03/18/2020

1.01.00

USE YTD

12-60-0046

EA

MFG - PART-NO

12-60-0047

EA

MFG - PART-NO

12-60-0048

EA

MFG - PART-NO

12-60-0049

EA

MFG - PART-NO

13-42-1014

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC.
PLUG, PIPE 1 1/4" SQUARE HEAD,

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC.
O-RING, HIGH SPEED

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
O-RING, LOW SPEED

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
O-RING, SPEED SENSOR

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
WINSCOPE DONGLES (WINSCOPE LICENCE "EXPERT" CD + USB K)
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC

EA

MFG - PART-NO



USER-ID : SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 140
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0810 13-42-6783 FEMALE, CONNECTOR 48 CONTACTS. PART NUMBER IS ALSTOM DRAWING; PURCHASE EA 00 05 00
FROM ALSTOM.

QOPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0009083119-A

0811 13-42-6784 FILTER, PAD. PART NUMBER IS ALSTOM DRAWING; PURCHASE FROM ALSTOM EA 75 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTRO000035560-A

0812 13-42-6793 LOCKNUT, M3 NYLOC. PART NUMBER IS ALSTOM DRAWING; PURCHASE FROM ALSTOM EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000461832

0813 13-42-6795 LOCKWASHER, BELLEVILLE, GR SST 5/16 IN PART NUMBER IS ALSTOM DRAWING; PURCHASE EA 600 00 00

FROM ALSTOM

QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000033029-A
0814 13-42-6807 NUT, HEX, FLEXLOC, SELF LOCKING, GR AUSTENITIC SST, 5/16 IN-18 UNC. EA 2,080 480 140
PART NUMBER IS ALSTOM DRAWING; PURCHASE FROM ALSTOM
QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. DTR0000267653



USER-ID : SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 141
FILE-ID : ALST2020 DATE : 03/18/2020
PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0815 13-42-6814 NUT, SELF LOCKING, FLEXLOCK, AUSTENITIC SST, 1/2-13 UNC EA 150 00 00
PART NUMBER IS ALSTOM DRAWING; PURCHASE FROM ALSTOM

QOPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000065076-A
0816 13-42-6815 NUT, SELF LOCKING, FLEXLOCK, AUSTENITIC SST, 1/4-20 UNC. PART NUMBER IS EA 00 00 00

ALSTOM DRAWING; PURCHASE FROM ALSTOM

QOPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000034652-A
0817 13-42-6816 NUT, STOP NYLON INSERT 1/4 - 20 UNC STANDARD PATTERN ST STEEL. PART NUMBER EA 12,600 200 00
IS ALSTOM DRAWING; PURCHASE FROM ALSTOM
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000262379
0818 13-42-6823 SCREW, 10-32 UNF FILLISTER HD. PART NUMBER IS ALSTOM DRAWING; PURCHASE EA 00 00 00

FROM ALSTOM

QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000461836
0819 13-42-6825 SCREW, CAP, HEX HEAD, 5/16 INCH - 18 UNC X 3/4 INCH LONG. PART NUMBER IS EA 1,280 80 140

ALSTOM DRAWING NUMBER PRURCHASED FROM ALSTOM

QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. DTR0000268157



PAGE 142
DATE 03/18/2020
VERSION 1.01.00
USE PY2 USE PYl USE YTD
00 00 00
10 00 00
12 14 00
00 00 00
05 01 00

USER-ID SPT N EW Y O RK CITY TRANSTIT AUTHORTITY
FILE-ID ALST2020
PROG-ID © COMMODTITY MANAGEMENT SYSTEM
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M
0820 13-42-6826 SCREW, CAP, HEX HEAD, SST, GR A2-70, 1/2-13 UNC X 1.25 IN LG (NOT SUPPLIED EA
WITH MODULE) . PART NUMBER IS ALSTOM DRAWING; PURCHASE FROM ALSTOM
QOPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0O000388537
0821 13-42-6828 SCREW, CSK, SOCKET HD, AUSTENITIC SST, GR A2-70, M6 X 16MM 1G. EA
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0009909059-A
0822 13-42-6830 SCREW, HEX HEAD CAP 10 - 32 UNF X 3/4 ST STEEL. PART NUMBER IS ALSTOM EA
DRAWING; PURCHASE FROM ALSTOM
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000288427-A
0823 13-42-6831 SCREW, HEX HEAD, CAP, GR A2-70 SST 1/2 IN-13 UNC X 2.25 IN LG. PART NUMBER EA
IS ALSTOM DRAWING; PURCHASE FROM ALSTOM
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000294410-A
0824 13-42-6833 SCREW, HEX HEAD, CAP, GR A2-70 SST, 1/2-13 UNC X 1.75 IN LG. PART NUMBER IS EA

ALSTOM DRAWING; PURCHASE FROM ALSTOM

QPL

N P

CODE

MFG - NAME

ALSTOM TRANSPORTATION

MFG - PART-NO



USER-ID : SPT

FILE-ID ALST2020 DATE : 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PYl USE YTD
0825 13-42-6839 SCREW, HEX HEAD, CAP, GR A2-70 SST, 1/4-20 UNC X 5/8 IN LG. PART NUMBER IS EA 1,890 140 245
ALSTOM DRAWING; PURCHASE FROM ALSTOM
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTRO000267646
0826 13-42-6844 SCREW, HEX HEAD, CAP, GR A2-70 SST, 5/16 IN-18 UNC X 1.75 IN LG IN. PART EA 00 00 00
NUMBER IS ALSTOM DRAWING; PURCHASE FROM ALSTOM
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000288428-A
0827 13-42-6849 SCREW, M3 X 20MM CSK SKT, PART NUMBER IS ALSTOM DRAWING; PURCHASE FROM EA 00 00 00
ALSTOM
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000461833
0828 13-42-6855 SCREW, SLOT HD 10-32 X 5/16 FLAT. PART NUMBER IS ALSTOM DRAWING; PURCHASE EA 00 00 00
FROM ALSTOM
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000461834
0829 13-42-6861 SEALING, SECTION 1011-05CR. PART NUMBER IS ALSTOM DRAWING; PURCHASE FROM ALSTOM EA 00 00 00

QPL CODE

N P

N EW Y O RK

MFG - NAME

ALSTOM TRANSPORTATION INFORMAT

CITY TRANSTIT

AUTHORTITY

MFG - PART-NO

PAGE : 143



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0830

0833

0834

STOCK NO

13-42-6862

13-42-6863

13-42-6864

ALST2020

13-42-6871 WASHER,

13-42-6872 WASHER,

N EW Y O RK CITY TRANOSTIT

COMMODTITY MANAGEMENT

MATERIAL STANDARDS USAGE REPORT

AUTHORITY

SYSTEM

/M

EA

EA

EA

EA

PAGE 144
DATE 03/18/2020
VERSION 1.01.00

USE PYl USE YTD

00 00

00 00

180 315

00 00

00 00

LONG DESCRIPTION U

SHOULDERD, SPACER. PART NUMBER IS ALSTOM DRAWING; PURCHASE FROM ALSTOM

QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC DTR0000461835

SPACER, 30/32 UNF. PART NUMBER IS ALSTOM DRAWING; PURCHASE FROM ALSTOM

QOPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC DTR0000461837

STOPNUT, STANDARD 1/4-20 UNC S/STEEL. PART NUMBER IS ALSTOM DRAWING;

PURCHASE FROM ALSTOM

QOPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC DTR0O000267656
PLAIN, OD 18.8 MM, ID 6.87 MM, S/STEEL.

QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC DTR0O000034961
PLAIN M3. PART NUMBER IS ALSTOM DRAWING; PURCHASE FROM ALSTOM

QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. DTR0008022332



USER-ID
FILE-ID

SPT
ALST2020

PROG-ID : €

REC#

0835

0836

N EW Y O RK CITY TRANSTIT AUTHORTITY

COMMODTITY MANAGEMENT SYSTEM

MATERIAL STANDARDS USAGE REPORT

STOCK NO LONG DESCRIPTION U/M
13-42-6873 WASHER, PLAIN NARROW, TYPE A, GR 316 AUSTINITIC SST, 1/4 1IN. EA

QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC DTR0000267663
13-42-6874 WASHER, PLAIN SAE 1/4 IN ZINC PLATED AND PASSIVATED. PART NUMBER IS ALSTOM EA

DRAWING; PURCHASE FROM ALSTOM

QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC DTR0000288447-A
13-42-6883 WASHER, PLAIN, REGULAR, TYPE A, AUSTENITIC SST, NO. 10. PART NUMBER IS EA

0837

ALSTOM DRAWING;

QPL

PURCHASE FROM ALSTOM

CODE

MEFG - NAME

P ALSTOM TRANSPORTATION

MFG - PART-NO

0838

13-42-6885 WASHER,
1/2 1IN.

QOPL

PLAIN, WIDE, TYPE A, GR SAE
PART NUMBER IS ALSTOM DRAWING;

1035-1050 ST, ZP TO ASTM B633-85 SC2,
PURCHASE FROM ALSTOM

CODE

MEFG - NAME

P ALSTOM TRANSPORTATION INC.

MFG - PART-NO

0839

13-42-6887 WASHER,

DRAWING;

QPL

PLAIN, WIDE, TYPE A, AUSTENITIC SST, 1/2 IN. PART NUMBER IS ALSTOM

PURCHASE FROM ALSTOM
CODE MFG - NAME MFG - PART-NO
P ALSTOM TRANSPORTATION INC. DTR000086409-A

PAGE 145
DATE 03/18/2020
VERSION 1.01.00
USE PY2 USE PYl USE YTD
4,860 360 630
00 00 00
09 00 00
00 00 00
00 07 00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0840

STOCK NO

13-43-0662

ALST2020

LONG DESCRIPTION

N EW Y O RK

COMMODTITY

CITY TRANGSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

WASHER, SPECIAL -- .265 X.437 X .06
QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

U/M

EA

MFG - PART-NO

146
03/18/2020

1.01.00

USE YTD

13-43-4064

ELBOW, MALE

EA

MFG - PART-NO

13-43-4072

QOPL CODE
N P

MUFFLER

QPL CODE
N P

EA

MFG - PART-NO

13-43-4073

QUICK EXHAUST VALVE
QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

13-43-4074

SPEED CONTROLLER

EA

MFG - PART-NO

13-43-4233

QPL CODE
N P
BASE, PLATE

QPL CODE
N P

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0846

STOCK NO

13-43-4307

N EW Y O RK

ALST2020

CITY TRANSTIT

COMMODTITY

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

MFG - PART-NO

13-43-4309

BRACKET, CONNECTOR

QPL CODE MEFG - NAME

_&_ __;_ gigégé_;ggNSPORTATION
BRACKET, DIODE

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

MFG - PART-NO

13-43-4395

CONNECTOR, BURNDY

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

MFG - PART-NO

13-43-4847

JUMPER, KAPTON 15 COND - 2.54 LG2 (C4)
QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

MFG - PART-NO

13-43-5087

PIN, CONTACT, AWG 18 - BURNDY
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

MFG - PART-NO

13-43-6613

SAFETY LATCH

CODE

QPL

N P

ALSTOM TRANSPORTATION

PAGE 147

DATE 03/18/2020

VERSION 1.01.00
U/M USE PY2 USE PYl USE YTD
EA 00 00 00
EA 00 00 00
EA 00 00 00
EA 00 75 00
EA 00 00 00
EA 00 00 00

MFG - PART-NO



N EW Y O RK

COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

USER-ID : SPT
FILE-ID : ALST2020
PROG-ID : €

REC# STOCK NO  LONG DESCRIPTION

U/M

EA

MFG - PART-NO

148
03/18/2020

1.01.00

USE YTD

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

0852 13-43-6621 BRACKET, CYLINDER

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
0853 13-43-6622 BRACKET, QUICK EXHAUST VALVE

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
0854 13-43-6629 ELEMENT

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
0855 13-43-6634 PISTON

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
0856 13-43-6636 RETAINING RING

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
0857 13-60-0094 ALSTOM MASTER CASE CONTROL (SUPERVISOR

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

& CCU) COVER ASSEMBLY

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE : 149
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD
0858 13-60-0095 ALSTOM MASTER CASE HSCB COVER ASSEMBLY EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC AW00000002725
0859 13-60-0096 ALSTOM MASTER CASE POWER MODULE A COVER ASSEMBLY EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. AW00000002728
0860 13-60-0097 ALSTOM MASTER CASE CONNECTION (EMI DETECTOR & CURRENT SENSORS) COVER EA 00 00 00
ASSEMBLY
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. AW00000002731
0861 13-60-0098 ALSTOM MASTER CASE LINE CONTACTORS COVER ASSEMBLY EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. AW00000002736
0862 13-60-0099 ALSTOM MASTER CASE BRAKE MODULE COVER ASSEMBLY EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. AW00000002956



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

0863

STOCK NO

13-60-0100

ALST2020

LONG DESCRIPTION

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

CITY

ALSTOM MASTER CASE POWER MODULE C COVER ASSEMBLY

QPL CODE
N P

MEFG - NAME

TRANGSTIT

MANAGEMENT

AUTHORITY

SYSTEM

U/M

EA

MFG - PART-NO

150
03/18/2020

1.01.00

USE YTD

13-60-0101

ALSTOM MASTER CASE POWER MODULE B COVER ASSEMBLY.

QOPL CODE
N P

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

13-60-0102

ALSTOM SLAVE CASE POWER MODULE B COVER

QPL CODE
N P

MEFG - NAME

ALSTOM TRANSPORTATION

ASSEMBLY

EA

MFG - PART-NO

13-60-0103

ALSTOM SLAVE CASE POWER MODULE A & CCU

QOPL CODE
N P

MEFG - NAME

ALSTOM TRANSPORTATION

COVER ASSEMBLY

EA

MFG - PART-NO

13-60-0105

ALSTOM SLAVE CASE BRAKE MODULE COVER

QPL CODE
N P

MFG - NAME

ALSTOM TRANSPORTATION

ASSEMBLY

EA

MFG - PART-NO

13-60-0106

ALSTOM SLAVE CASE POWER MODULE C COVER

QPL CODE
N P

MEFG - NAME

ALSTOM TRANSPORTATION

ASSEMBLY

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0869

STOCK NO

13-60-0107

ALST2020

LONG DESCRIPTION

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

ALSTOM RAIL GAP END COVER ASSEMBLY

QPL

N P

CODE

MEFG - NAME

ALSTOM TRANSPORTATION

CITY TRANSTIT

INC.

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

151
03/18/2020

1.01.00

USE YTD

13-60-0137

NON-CAB END BONNET,

QOPL CODE
N P

MEFG - NAME

COMPLETE STRUCTURAL SHELL, A-CAR, B-CAR

EA

PART-NO

13-60-0138

CAB END BONNET,

COMPLETE STRUCTURAL

MEFG - NAME

SHELL, A-CAR

EA

PART-NO

13-60-0139

QPL CODE
N P
ANTI-CLIMBER
QOPL CODE
N P

EA

PART-NO

13-60-5202

CABLE ASSEMBLY,

QPL CODE
N P

J4, A CAR, 209.5 IN.LG

MFG - NAME

EA

PART-NO

13-60-5205

CABLE ASSEMBLY,

CODE

QPL

N P

J5, A CAR, 210.5 IN.LG

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0875

STOCK NO

13-60-5210

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

CABLE ASSEMBLY, J4, B CAR NO.1l END,

QPL

CODE

MEFG - NAME

CITY TRANSTIT

171.5 IN.LG

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

152
03/18/2020

1.01.00

USE YTD

13-60-5211

CABLE ASSEMBLY, J5, B CAR NO.l END,

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

13-60-5215

CABLE ASSEMBLY, J4, B CAR NO.2 END,

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

13-60-5216

CABLE ASSEMBLY, J5, B CAR NO.2 END,

EA

MFG - PART-NO

13-60-6507

EA

MFG - PART-NO

13-60-6508

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
STUD, TERMINAL, M4-20

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
STUD, TEST, PT1 TO PT13

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

01

00

00

03

00

00



USER-ID SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE 153
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD
0881 13-60-6910 JUMPER BOX EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 69701-03501-A
0882 13-60-6911 JUMPER BOX COVER ASSEMBLY, TOP EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 59711-03501
0883 13-60-6912 JUMPER BOX COVER, TOP EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 36001-03568
0884 13-60-6913 CAPTIVE SCREW, JUMPER BOX COVER EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 30001-03504
0885 13-60-6914 SPECIAL WASHER, JUMPER BOX COVER EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 30011-03509
0886 13-60-6915 GASKET, 64.76 IN. LG, JUMPER BOX COVER EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 31031-03514



USER-ID SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE 154
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY?2 USE PYl USE YTD
0887 13-60-6916 JUMPER BOX COVER ASSEMBLY, BOTTOM EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 59711-03502 A
0888 13-60-6917 JUMPER BOX COVER, BOTTOM EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 36001-03569 A
0889 13-60-6919 PIN, COTTER, SST, 3/16 IN. DIA X 1/2 EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC E01S-018150
0890 13-60-6920 SCREW, CROSS REC PAN HD, SST, NO. 10 UNC TYPE 1 X 5/8 IN. LG EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC A315-510062
0891 13-60-6922 WASHER, SPRING, SST, NO.10 EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC C71S-S10SWR
0892 13-60-6923 BOLT, HEX HD, SST, 5/8 UNC X 1-7/8 IN. LG EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC A01S-062187



USER-ID
FILE-ID

PROG-ID : €

SPT

N EW Y O RK

ALST2020
COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

U/M

EA

MFG - PART-NO

PAGE
DATE

VERSION

155
03/18/2020

1.01.00

USE YTD

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

fEcr e e

0893 13-60-6925
0894 13-60-6926
0895 13-60-6928
0896 13-60-6929
0897 13-60-6930
0898 13-60-6931

NUT, HEX, SST, 3/8 UNC

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
WASHER, PLAIN, SST, 5/8, NARROW

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
WASHER, SPRING, SST, 3/8

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
NAME PLATE [JI], JUMPER BOX

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
NAME PLATE [JUNCTION BOX]

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
NAME PLATE [J3], JUMPER BOX

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0899

STOCK NO

13-60-6932

ALST2020

N EW Y O RK

CITY TRANSTIT

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

JUMPER BOX

MEFG - NAME

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

156
03/18/2020

1.01.00

USE YTD

13-60-6933

JUMPER BOX

MEFG - NAME

EA

MFG - PART-NO

13-60-6934

LONG DESCRIPTION
NAME PLATE [J4],
QPL CODE

N P
NAME PLATE [J5],
QPL CODE

N P
NAME PLATE [J6],
QPL CODE

N P

JUMPER BOX

MEFG - NAME

EA

MFG - PART-NO

13-60-6935

WIRING RUBBER SHEET,

QOPL

EA

MFG - PART-NO

13-60-6936

BRACKET,

QPL

JUMPER BOX
CODE MEFG - NAME
P ALSTOM TRANSPORTATION
JUMPER BOX
CODE MFG - NAME
__;_ gigégé_;ggNSPORTATION

EA

MFG - PART-NO

13-60-6988

HEATER GRILLE COVER,

QPL

CODE

P

SIDE

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

03

00

00



USER-ID SPT
FILE-ID ALST2020

PROG-ID : €

REC#

STOCK NO

0905 13-60-6989 HEATER

QPL

13-60-6990 HEATER

QOPL

13-60-6991 HEATER

QPL

13-60-6992 HEATER

QOPL

13-60-6993 HEATER

QPL

13-60-6994 HEATER

QPL

GRILLE

CODE

GRILLE

CODE

GRILLE

CODE

GRILLE

CODE

GRILLE

CODE

GRILLE

CODE

P

NEW Y O RK

CITY TRANGSTIT

COMMODTITY

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

COVER ASSEMBLY, SIDE

MEFG - NAME

COVER, SIDE

MEFG - NAME

COVER ASSEMBLY, SIDE

MEFG - NAME

COVER, SIDE

MEFG - NAME

COVER ASSEMBLY, SIDE

MFG - NAME

COVER, SIDE

MEFG - NAME

ALSTOM TRANSPORTATION

U/M USE

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00

157

03/18/2020
1.01.00

USE YTD



USER-ID SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE 158
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY?2 USE PYl USE YTD
0911 13-60-6995 HEATER GRILLE COVER ASSEMBLY, SIDE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. AW00000010913
0912 13-60-6996 HEATER GRILLE COVER, SIDE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC AW00000010913-01
0913 13-60-7004 NUT, HEX, NO.12 UNC, SST EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC C01S-S12NUC
0914 13-60-7005 WASHER, PLAIN, NO.6 NARROW, SST EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC C51S-S06PWN
0915 13-60-7006 WASHER, PLAIN, NO.8 NARROW, SST EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC C51S-S08PWN
0916 13-60-7007 WASHER, PLAIN, NO.12, NARROW, SST EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC C51S-S12PWN



USER-ID : SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 159
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0917 13-60-7009 COVER EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 36001-03640

0918 13-60-7018 WIRING RUBBER SHEET EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 38005-03533

0919 13-60-7019 GROUND TERMINAL EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 38031-03512A

0920 13-60-7020 GROUND TERMINAL EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 38031-03514

0921 13-60-7021 GROUND TERMINAL EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 38031-03570

0922 13-60-7022 TERMINAL BLOCK ASSEMBLY EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. 38081-03531 A



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0923

STOCK NO

13-60-7023

13-60-7024

13-60-7025

13-60-7026

13-60-7027

13-60-7028

ALST2020

N

E

W

COMMODTITY

Y O RK CITY TRANSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

TERMINAL BLOCK ASSEMBLY

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC.
NAME PLATE (JB1B)

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
NAME PLATE (JB2B)

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
NAME PLATE (B)

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
TERMINAL BLOCK NAME PLATE (3, 4, 5...)

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
TERMINAL BLOCK NAME PLATE (1, 2, 3,

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00

160

03/18/2020
1.01.00

USE YTD



USER-ID : SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 161
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PYl USE YTD

0929 13-60-7029 TERMINAL BLOCK NAME PLATE (1, 2, 3...) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 39005-03582A

0930 13-60-7030 TERMINAL BLOCK NAME PLATE (1, 2, 3...) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 39005-03584A

0931 13-60-7031 WASHER, PLAIN, 3/8, WIDE, SST EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. C52S-037PWW

0932 13-60-7032 WASHER, PLAIN, NO.8, NARROW, SST EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. C54S-S08PWN

0933 13-60-7033 WASHER, SPRING, NO.6, SST EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. C71S-S06SWR

0934 13-60-7034 WASHER, SPRING, NO.8, SST EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. C715-S08SWR



USER-ID : SPT
FILE-ID

PROG-ID : €

ALST2020

LONG DESCRIPTION

WASHER,

QPL

PLAIN, NO.12,

CODE

N EW Y O RK

COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

REGULAR, SST

MEFG - NAME

U/M

MFG - PART-NO

162
03/18/2020

1.01.00

USE YTD

RIVET,

QOPL

BLIND,

CODE

1/8 DIA X 0.250 IN. LG,

MEFG - NAME

PAN HD, NARROW, SST

MFG - PART-NO

CAPTIVE

QPL

SCREW

CODE

MFG - PART-NO

WASHER,

QOPL

SPECIAL

CODE

MFG - PART-NO

BRACKET

QPL

MFG - PART-NO

fEcr e e

0935 13-60-7036
0936 13-60-7039
0937 13-60-7165
0938 13-60-7168
0939 13-60-7171
0940 13-60-7172

BRACKET

QPL

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT NEW Y O R K CITY TRANGSTIT AUTHORTITY PAGE : 163
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0941 13-60-7173 BRACKET EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 31041-06190A

0942 13-60-7215 TERMINAL BLOCK NAME PLATE (1, 2, 27) EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 39005-03616

0943 13-60-7216 TERMINAL BLOCK NAME PLATE (11, 12) EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 39005-03617

0944 13-60-7217 TERMINAL BLOCK NAME PLATE (1, 2, 3...) EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 39005-03618

0945 13-60-7225 HEATER COVER ASSEMBLY, SIDE A CAR EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 54036-03581

0946 13-60-7226 COVER FOR JUNCTION BOX, UNDER CAR EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. 58536-03524



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0947

STOCK NO

13-60-7236

13-60-7249

13-60-7251

13-60-7255

13-60-7256

13-60-7257

N EW Y O RK

ALST2020
COMMODTITY

CITY TRANSTIT AU

MANAGEMENT

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

BRACKET
QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

HEATER COVER, SIDE

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
NAME PLATE (A).

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
BOLT, HEX HEAD, 1/4 UNC X 7/8 INCH

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
BOLT, HEX HEAD, 3/8 UNC X 1-1/8 INCH
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION

SCREW, CROSS RECESS PAN HEAD, NO.6 UNC

QPL

CODE

P

MEFG - NAME

ALSTOM TRANSPORTATION

TYPE 1 X 1/2 INCH LONG, SST

THORTITY

SYSTEM

U/M

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00

164

03/18/2020
1.01.00

USE YTD



USER-ID : SPT
FILE-ID : ALST2020
PROG-ID : €

REC# STOCK NO  LONG DESCRIPTION

0953

13-60-7258

N EW Y O RK

COMMODTITY

CITY TRANGSTIT

MANAGEMENT

AUTHORITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

CROSS RECESS PAN HEAD, NO.8 UNC

MEFG - NAME

ALSTOM TRANSPORTATION

TYPE 1 X 5/8 INCH LONG,

SST

U/M

EA

MFG - PART-NO

165
03/18/2020

1.01.00

USE YTD

13-60-7259

CROSS RECESS PAN HEAD, NO.8 UNC

MFG - NAME

ALSTOM TRANSPORTATION

TYPE 1 X 3/4 INCH LONG,

SST

EA

MFG - PART-NO

13-60-7262

CROSS RECESS FLAT HEAD, NO.12

MEFG - NAME

ALSTOM TRANSPORTATION

UNC 1 INCH LONG, SST

EA

MFG - PART-NO

13-60-7263

CROSS RECESS FLAT HEAD, NO.12

MEFG - NAME

UNC 1-1/8 INCH LONG, SST

EA

MFG - PART-NO

13-60-7264

SCREW,
QPL CODE

N P
SCREW,

QPL CODE

N P
SCREW,

QPL CODE

N P
SCREW,

QPL CODE

N P
INSULATING PLATE

QPL CODE
N P

EA

MFG - PART-NO

13-60-7265

INSULATING PLATE

CODE

QPL

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE 166
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PYl USE YTD
0959 13-60-7266 INSULATING PLATE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. AW00000010253
0960 13-60-7268 HEATERGRILLE COVER ASSEMBLY, SIDE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC AW00000010907
0961 13-60-7269 HEATERGRILLE COVER, SIDE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC AW00000010907-01
0962 13-60-7270 HEATERGRILLE COVER ASSEMBLY, SIDE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC AW00000010908
0963 13-60-7271 HEATERGRILLE COVER, SIDE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC AW00000010908-01
0964 13-60-7272 HEATERGRILLE COVER ASSEMBLY, SIDE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC AWO0000010909



USER-ID SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE 167
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID © COMMODTITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD
0965 13-60-7305 LATCH, SPRING TOGGLE, FOR ALSTOM PHASE MODULE COMPARTMENT COVERS EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000068724
0966 13-60-7306 LATCH, SPRING, FOR ALSTOM SUPERVISOR COMPARTMENT COVERS EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0O000069326
0967 13-60-7441 BOLT, HEX HD, SST-304, 1/2 UNC X 1-3/8 IN.LG EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC AQ015-050137
0968 13-60-7468 BRACKET, BELT CLAMP, LEFT, USED ON END DOOR CLOSER EA 00 00 00
QOPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC P001-108-002
0969 13-68-0016 BRACKET, 1-11/32™ X 1-11/32" X 3-17/32" X 1' 1-25/32" X .118"™ THK, STAINLESS EA 00 00 00
STEEL, USED ON R68 END SLIDING DOOR ASSEMBLY.

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION
N D NYCTA

INC.

MFG - PART-NO

0-31-26-006/001

R-68-799 ITEM #1



USER-ID : SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 168
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD
0970 13-68-0018 WINDOW ASSEMBLY, SPLIT FRAME. EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 1-31-37-006 (FOR REF. ONLY)
0971 13-68-0837 ROLLER GUIDE, USE ON WINDOW, CAB SIDE ASSEMBLY EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 0-31-37-028/007
0972 13-68-0841 BRACKET, LATCH, 1-9/16" X 23/32" X 1/4" X 1/8", STAINLESS STEEL, USED ON EA 00 01 00

WINDOW CAB SIDE ASSEMBLY

QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 0-31-37-028/003

0973 13-68-1004 HANGER, SAFETY, SPRING PLANK USE ON SECONDARY SUSPENSION ASSEMBLY, R68 CAR EA 00 00 00
CLASS
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 16-98-135

0974 13-68-1373 ROLLER, GUIDE, USE ON WINDOW, CAB SIDE ASSEMBLY EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. 0-31-37-028-/021



USER-ID : SPT
FILE-ID ALST2020

PROG-ID : €

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION
0975 13-68-1374 RAIL, LOWER, ALU ALLOY 6063T5,

APPLI-AC

QOPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
0976 14-42-6674 COVER, CAPACITOR TRAY MOULDING

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
0977 14-43-0384 POWER SUPPLY MODULE, SIDE INTERIOR

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
0978 14-60-0012 CIIS LON CONTROLLER

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
0979 14-60-0013 SDS LON CONTROLLER

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION

CITY TRANSTIT

MANAGEMENT

INFORMATION SIGN

INFORMAT

INFORMAT

INFORMAT

AUTHORTITY

SYSTEM

U/M

ANODIZED USE ON M/M WINDOW, CAB SIDE ASSEMBLY, EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

EA

MFG - PART-NO

PAGE
DATE

VERSION

169

03/18/2020
1.01.00

USE YTD



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0980

STOCK NO

14-60-0014

N EW

ALST2020
COMMODTITY

LONG DESCRIPTION

Y O RK CITY TRANSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

THORTITY

Y STEM

U/M

EA

MFG - PART-NO

170
03/18/2020

1.01.00

USE YTD

14-60-0015

EA

MFG - PART-NO

14-60-0016

EA

MFG - PART-NO

14-60-0017

EA

MFG - PART-NO

14-60-0018

EA

MFG - PART-NO

14-60-0019

SDS POWER SUPPLY

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INFORMAT
ERS POWER SUPPLY

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INFORMAT
CIIS POWER SUPPLY

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INFORMAT
CIIS LED MATRIX 48X16 BICOLOR

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INFORMAT
CIIS LED MATRIX 64X16 BICOLOR

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INFORMAT
PRINTED CIRCUIT BOARD, ERS, LED MATRIX AND LON CONTROLLER
QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION INFORMAT

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

06

02

04

00

00

02



USER-ID : SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 171
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

0986 14-60-0020 SDS LED MATRIX 48X9 AMBER EA 00 01 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT 89-30125PA-01

0987 14-60-0021 SDS LED MATRIX 64X9 AMBER EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT 89-30126PA-01

0988 14-60-0022 SDS LED MATRIX 12X20 AMBER EA 01 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT 89-30127PA-01

0989 14-60-0023 SDS INTERFACE BOARD 10123/20101 EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 89-40128PA-01

0990 14-60-0047 BLEED RESISTOR PANEL EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0O000065533

0991 14-60-0048 PCB, 1/2 GDX6 EA 00 09- 03-
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. DTR0000066893



USER-ID
FILE-ID

PROG-ID : €

SPT

REC#

0992

STOCK NO

14-60-0049

ALST2020

LONG DESCRIPTION

N EW Y O RK

COMMODTITY

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

EA

MFG - PART-NO

172
03/18/2020

1.01.00

USE YTD

14-60-0060

SIGN, END ROUTE

QOPL

CODE

(ERS)

MEFG - NAME

14-60-0130

PCB,

LVIO

14-60-0131

PRINTED CIRCUIT BOARD, BACK PLANE

QOPL

CODE

MEFG - NAME

14-60-0132

PCB,

QPL

14-60-0133

PCB,

QPL

INC. DTR0O000070769
EA
MFG - PART-NO
INFORMAT FRT
EA
MFG - PART-NO
INC TRVC062018000
AGATE, (BPLX), ALSTOM PROPULSION EA
MFG - PART-NO
INC TRVC062051000
EA
MFG - PART-NO
INC TRVC062054000
EA
MFG - PART-NO
INC TRVC062055000

PAGE
DATE
VERSION

USE PY1

00

02

09

00

04

06



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

0998

STOCK NO

14-60-0134

ALST2020

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

MEFG - NAME

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

173
03/18/2020

1.01.00

USE YTD

14-60-0135

EA

MFG - PART-NO

14-60-0136

EA

MFG - PART-NO

14-60-0137

EA

MFG - PART-NO

14-60-0138

LONG DESCRIPTION
PCB, NET3

QPL CODE
N P
PCB, SBT

QPL CODE
N P
PCB, EBX2

QPL CODE
N P
PCB, BULB

QPL CODE
N P
PCB, ATLS

QPL CODE
N P

EA

MFG - PART-NO

14-60-0139

PRINTED CIRCUIT BOARD, EVENT RECORDER

CODE

QPL

N P

MEFG - NAME

ALSTOM TRANSPORTATION

(EVR),

ALSTOM PROPULSION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

01

02

00

17

04

00



USER-ID SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE 174
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD
1004 14-60-0140 PCB, ALAl EA 00 03 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. TRVC062199000
1005 14-60-0142 PCB, CPB EA 01 30 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC TRVC062202000
1006 14-60-0143 PCB, BPCC EA 00 05 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC TRVC062203000
1007 14-60-0144 PCB, PC1l04-MDS EA 00 00 02
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC TRVC062205000
1008 14-60-0145 PCB, PCl04-TCN EA 00 00 02
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC TRVC062210000
1009 14-60-0146 PCB, PSUl EA 00 12 03
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC TRVP061710000



USER-ID SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 175
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC#

1010

STOCK NO

15-41-0106

15-41-0107

15-41-0108

15-41-0109

15-42-3067

LONG DESCRIPTION

BOLT, U, FOR 1"

QPL

CLIP,

QOPL

CLIP,

QOPL

CLIP,

QOPL

NIPPLE

QPL

CODE

ASSEMBLY,

CODE

ASSEMBLY,

CODE

ASSEMBLY,

CODE

P
D

, LUBRICATING TYPE N

CODE

P

PIPE, I.P.S.

MEFG - NAME

STEEL, HOSE, #2 FOR U/O TRUCK PIPING ASSEMBLY

MEFG - NAME

ALSTOM TRANSPORTATION INC.
NYCTA

STEEL, HOSE, #1 FOR U/O TRUCK PIPING ASSEMBLY

MEFG - NAME

ALSTOM TRANSPORTATION INC.
NYCTA

STEEL, HOSE, #3 FOR U/O TRUCK PIPING ASSEMBLY

MEFG - NAME

ALSTOM TRANSPORTATION INC.
NYCTA

(1/8) REF 161

MFG - NAME

ALSTOM TRANSPORTATION INC.

STEEL FOR U/O TRUCK PIPING ASSEMBLY

U

MFG - PART-NO

MFG - PART-NO

230119203
R141-2509

MFG - PART-NO

230449202
R141-2508

/M

EA

EA

EA

EA

MFG - PART-NO

230119204
R141-2510

EA

MFG - PART-NO

PYl USE YTD

00 00
00 00
00 00
00 00
140 00



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

1015

STOCK NO

15-42-4184

N EW Y O RK

ALST2020
COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

SLEEVE, HEAT SHRINK, SHORT, U/O CABLE

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

CITY TRANSTIT

CLEAT ASSEMBLY

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

176
03/18/2020

1.01.00

USE YTD

15-42-4185

SLEEVE, SHRINK, LONG U/O CABLE CLEAT

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

ASSEMBLY

EA

MFG - PART-NO

15-60-0051

DRIVE SCREW, .164" X 1/4", SST

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

15-60-0065

BOLT, MAIN CONTROL

QOPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

15-60-0066

AXLE GROUND BRUSH HOUSING ASSEMBLY

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

15-60-0160

AUXILARY FAN

QPL CODE MEFG - NAME
N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

1021

STOCK NO

15-60-0221

N EW Y O RK

ALST2020

CITY TRANSTIT

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION

EQUIPPED WOUND STATOR

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

177
03/18/2020

1.01.00

USE YTD

15-60-0223

EA

MFG - PART-NO

15-60-0228

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
TERMINAL BOX

QOPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION
DEFLECTOR

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

EA

- PART-NO

15-60-0229

OUTER DEFLECTOR COVER

QOPL

N P

CODE

MEFG - NAME

ALSTOM TRANSPORTATION

EA

- PART-NO

15-60-0232

OUTER DEFLECTOR COVER

15-60-0233

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
AXLE, GROUND BRUSH HOLDER HOUSING

QPL CODE MEFG - NAME

N P ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

06

00

00

00

00



USER-ID SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE 178
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY?2 USE PYl USE YTD
1027 15-60-0235 END SHIELD, NON-DRIVE END EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000313875-A
1028 15-60-0236 CABLE CONNECTION A EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 565.120.100
1029 15-60-0237 CABLE CONNECTION B EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 565.120.200
1030 15-60-0238 CABLE CONNECTION C EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 565.120.300
1031 15-60-0240 CLOSING SHEET EA 12 06 03
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000313874-A
1032 15-60-0346 BOLT, HEX HD, ZN, M16 X 60 EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0O000279333-A



USER-ID : SPT NEW YORK
FILE-ID : ALST2020
PROG-ID : € COMMODITY
REC# STOCK NO  LONG DESCRIPTION

1033

15-60-0347

CITY TRANOSTIT

MANAGEMENT

AUTHORITY

SYSTEM

MATERIAL STANDARDS USAGE REPORT

WASHER, FLAT, HARDENED STL, ZN, 3/8

U/M

EA

MFG - PART-NO

179
03/18/2020

1.01.00

USE YTD

15-60-0348

EA

MFG - PART-NO

15-60-0362

EA

MFG - PART-NO

15-60-0384

12/D/FE

EA

MFG - PART-NO

15-60-0391

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
WASHER, SPRING, ZN, M16

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
TERMINAL, MAIN CONTROL

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
HEX HEAD SCREW, 5/16-18 X 1"-8.8-2ZN
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION
HEX HEAD SCREW, 1/4-20 X 3/4"-8.8-7N
QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION

12/D/FE

EA

MFG - PART-NO

15-60-0395

PLAIN WASHER, 8, 200HV-ZN 12/D/FE

CODE

MEFG - NAME

ALSTOM TRANSPORTATION

QPL

N P

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID : SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE : 180
FILE-ID : ALST2020 DATE : 03/18/2020

PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION : 1.01.00

MATERIAL STANDARDS USAGE REPORT

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD

1039 15-60-0396 WASHER, CS, 5/16"™ TYPE B NARROW-ZN 12/D/FE EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. TRO0-431.663/005

1040 15-60-0402 HOUSING, PINION BEARING, INBOARD EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 00101-00-003

1041 15-60-0403 HOUSING, PINION BEARING, OUTBOARD EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 00101-00-004

1042 15-60-0404 HOUSING, LOW SPEED, OUTBOARD EA 32 25 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000444704

1043 15-60-0405 HOUSING, MACHINED EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 00101-00-006

1044 15-60-0410 HOUSING, LOW SPEED INBOARD EA 32 00 00
QPL CODE MEFG - NAME MFG - PART-NO

N P ALSTOM TRANSPORTATION INC. DTR0000444705



USER-ID SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE 181
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODTITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD
1045 15-60-0412 COVER EA 00 10 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000319029-A
1046 15-60-0509 SIGHT GLASS EA 01 01 01
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0O000379525
1047 15-60-0510 R160 LABEL EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC AW00000006165
1048 15-60-0511 DRAIN PLUG, SQUARE HD, 3/4 NPT EA 00 00 00
QOPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC AW00000006315
1049 15-60-0602 INSULATING PLATE LARGE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000288590
1050 15-60-0603 INSULATING PLATE SMALL EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0000288591-A



CITY TRANSTIT AU

MANAGEMENT

MATERIAL STANDARDS USAGE REPORT

THORTITY

SYSTEM

U/M

DISCONNECT U/O AC TRACTION MOTOR, A AND EA

MFG - PART-NO

MOTOR, A AND BA CAR

EA

MFG - PART-NO

MOTOR, A AND B CAR

EA

MFG - PART-NO

TRACTION MOTOR, A AND B CAR

EA

MFG - PART-NO

TRACTION MOTOR, A AND B CAR

USER-ID : SPT NEW YORK
FILE-ID : ALST2020
PROG-ID : € COMMODITY

REC# STOCK NO  LONG DESCRIPTION
1051 15-60-0612 TERMINAL, 1/0 STYLE, AMP QUICK

B CAR

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
1052 15-60-0613 SLEEVE, BLUE (A LEAD), U/O AC TRACTION

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
1053 15-60-0614 SLEEVE, WHITE (B LEAD) U/O AC TRACTION

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
1054 15-60-0615 SLEEVE, YELLOW, (C LEAD) U/O AC

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC
1055 15-60-0616 HEAT SHRINK, 4 FEET LENGTH, U/O AC

QPL CODE MFG - NAME

N P ALSTOM TRANSPORTATION INC

EA

MFG - PART-NO

PAGE 182
DATE 03/18/2020
VERSION 1.01.00
USE PY2 USE PYl USE YTD
00 00 00
00 00 00
00 00 00
00 00 00
00 00 00



USER-ID SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE 183
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00

MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY?2 USE PYl USE YTD
1056 15-60-0617 HEAT SHRINK, U/O AC TARCTION MOTOR, A AND B CAR EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000345258-A
1057 15-60-0618 TERMINAL, U/O AC TRACTION MOTOR, A AND B CAR EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000345260-A
1058 15-68-0285 PLANK, SPRING, ASSEMBLY. USE ON SECONDARY SUSPENSION ASSEMBLY, TRUCK EA 00 00 00
ARRANGING, R68 CAR CLASS.
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 16-98-102
N D NYCTA R68-1196
1059 15-68-0287 FITTING, ADJUSTABLE SOCKET, WELDED, USEDON TRUCK ARRANGEMENT AIR BRAKE PIPING EA 00 00 00
ARRANGEMENT .
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 21.96.109
N D NYCTA R68-1233
1060 15-68-0289 WEAR PLATE, BOLSTER, USED ON TRUCK FRAME FOR SECONDARY SUSPENSION ASSEMBRLY EA 00 00 00

QPL

N P

CODE

MFG - NAME

ALSTOM TRANSPORTATION INC.

MFG - PART-NO



USER-ID : SPT NEW YOREK CITY TRANSIT AUTHORTITY PAGE 184
FILE-ID : ALST2020 DATE : 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PYl USE YTD
1061 18-42-5907 BALANCE WEIGHT USED ON TRACTION MOTOR EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000253147-A0
1062 19-42-7006 WASHER, RETAINING, 15/64 I.D.-19/32 0.D., NYLON EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTRO000047369-A
1063 19-60-0324 FUSE, AC250V, 10A (DAITO) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC BL100
1064 19-60-0349 MAIN, TRANS (FUJIWA) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC HG-30-T2
1065 19-60-0350 MAIN, TRANS (FUJIWA) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC HG-80-T1
1066 19-60-0351 PRINTED CIRCUIT BOARD (FUJIWA) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC HG-30-K2-01



USER-ID
FILE-ID

SPT

PROG-ID : €

REC#

1067

STOCK NO

19-60-0352

ALST2020

LONG DESCRIPTION

PRINTED CIRCUIT BOARD

QPL

CODE

N EW Y O RK

COMMODTITY

MATERIAL STANDARDS USAGE REPORT

(FUJIWA)

MEFG - NAME

CITY TRANSTIT

MANAGEMENT

AUTHORTITY

SYSTEM

U/M

EA

MFG - PART-NO

185
03/18/2020

1.01.00

USE YTD

19-60-0353

SCREW (FUJIWA)

EA

MFG - PART-NO

19-60-0354

EA

MFG - PART-NO

19-60-0355

QPL CODE
N P
SCREW, (FUJIWA)
QPL CODE
N P
SCREW, (FUJIWA)
QPL CODE
N P

EA

MFG - PART-NO

19-60-0362

TERMINAL BLOCK,
QPL CODE
N P

(KIMUDEN)

MFG - NAME

EA

MFG - PART-NO

19-60-0363

TERMINAL BLOCK,
QPL CODE
N P

(KIMUDEN)

MEFG - NAME

ALSTOM TRANSPORTATION

EA

MFG - PART-NO

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00



USER-ID SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE 186
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY?2 USE PYl USE YTD
1073 19-60-0383 ISOLATION AMP. VISO2KVR.M.S (NIHON PULSE) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. ISA102
1074 19-60-0384 LEAR, INDUCTOR (OHIRA ELECTRONICS) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC RS902SK
1075 19-60-0387 HEAT, SINK (OS) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC HG-30-HS1
1076 19-60-0388 HEAT, SINK (0S) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC PC1724A-25-ST
1077 19-60-0389 HEAT, SINK (OS) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC PC3030-25-ST
1078 26-05-0300 ARRESTOR, SURGE, TYPE HE60MCO7L6E1MS, REPLACES TYPE MHVBMO7-DC, INCLUDES EA 00 00 00



AUTHORITY

SYSTEM

U/M

PLUS DISCONNECT TYPE XP10B

MFG - PART-NO

EA

MFG - PART-NO

20 DEGREE

DEFLECTER,

MFG - PART-NO

20 DEGREE

DEFLECTER,

MFG - PART-NO

USER-ID : SPT NEW YOREK CITY TRANSTIT
FILE-ID : ALST2020
PROG-ID : € COMMODITY MANAGEMENT
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION
ADAPTOR PALM (M5) AND ADAPTOR MOUNTING PLATE (M8),
DC WITH 1.5 METERS OF FLEXIBILITY CABLE
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION INFORMAT
1079 27-69-2010 TRANSFORMER, TRK5638434000, USED ON R160 RAIL GAP DRIVER BOARD
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION INC
1080 32-26-5405 LENS, FOR COLOR POSITION LIGHT, 2-3/4" DIAMETER, CONVEX,
GREEN
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION INC
1081 32-26-5410 LENS, FOR COLOR POSITION LIGHT, 2-3/4" DIAMETER, CONVEX,
RED
QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION INC
1082 32-26-5415 LENS, FOR COLOR POSITION LIGHT, 2-3/4" DIAMETER, CONVEX,

LUNAR WHITE

QPL

CODE

N P

MFG - NAME

ALSTOM TRANSPORTATION

20 DEGREE

DEFLECTER,

MFG - PART-NO

PAGE 187
DATE 03/18/2020
VERSION 1.01.00
USE PY2 USE PYl USE YTD
00 00 00
00 00 00
00 00 00
00 00 00



USER-ID SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE 188
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00

MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PYl USE YTD
1083 32-26-5416 LENS, FOR COLOR POSITION LIGHT, 2-3/4" DIAMETER, CONVEX, 20 DEGREE DEFLECTOR, EA 00 00 00
YELLOW
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC P73-0866
1084 32-26-5420 LENS, FOR COLOR POSITION LIGHT, 2-3/4" DIAMETER, CONVEX, 20 DEGREE DEFLECTER, EA 00 00 00
CLEAR
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC P73-0869
1085 38-30-0600 NUT, CAP, LOCKING, 1/4-20, (100 % NYLON) EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000078678 (FOR REF.ONLY)
1086 38-68-2222 WASHER, PLAIN, 5/16 IN. TYPE A NARROW, STAINLESS STEEL EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000064700 (FOR REF. ONLY)
1087 38-78-1350 WASHER, LOCK, 1/2" MED. SPLIT, ZN 12/D/FE (12 MICRONS, ZINC PLATED, CLEAR EA 19,898 18,245 3,825
CARBON STEEL)
QOPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0O000165388-A



USER-ID SPT NEW Y O R K CITY TRANGSTIT AUTHORTITY PAGE 189
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID © COMMODTITY MANAGEMENT SYSTEM VERSION 1.01.00

MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PYl USE YTD
1088 38-78-1407 WASHER, LOCK, FOR 1-1/8" BOLT, STEEL, CADMIUM PLATED, SPLIT RING, HEAVY, 100 EA 5,730 6,120 640
EA PER PKG.
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 19-98-113 (FOR REF ONLY)
1089 38-78-4290 WASHER, LOCK, SPLIT RING, STEEL, GALVANIZED, A.S.A. B27.1, HEAVY, FOR EA 5,730 4,640 00
7/8" BOLT
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 19-98-112 (FOR REF ONLY)
1090 39-07-3511 SCREW, CAP, HEX HD, 1/2-13 X 1 1/4, SST EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000065075 (FOR REF.ONLY)
1091 39-12-3660 CAPSCREW, 1/4-20 UNC X 0.625 IN LG, SOCKET HEAD, STL, ZNC PLTD, YEL EA 00 1,000 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0O009403989-A
1092 39-13-1750 SCREW, HEX HEAD, NO.10-31 X 5/8.IN, STAINLESS STEEL EA 00 00 00
QOPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTR0O000069933 9FOR REF ONLY)



USER-ID : SPT
FILE-ID : ALST2020

PROG-ID : €

N EW Y O RK CITY TRANSTIT AUTHORTITY

COMMODTITY MANAGEMENT SYSTEM

MATERIAL STANDARDS USAGE REPORT

PAGE : 190
DATE : 03/18/2020
VERSION : 1.01.00

REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PYl USE YTD
1093 39-13-1752 SCREW, HEX HEAD, 5/16IN.-18 X 1IN., STAINLESS STEEL EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTRO000064872 (FOR REF.ONLY)
1094 39-13-1756 SCREW, HEX HOCKET HEAD, 1/4IN-20 X 3/4IN, STAINLESS STEEL EA 20 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTRO000077991 (FOR REF. ONLY)
1095 39-13-1760 WASHER, LOCK, HELICAL SPRING, 1/4 IN., STAINLESS STEEL EA 700 1,400 400
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000056195 (FOR REF.ONLY)
1096 39-32-7170 SCREW, FLAT, 5/16-18 UNC-2A X 1-1/2" LONG, COUNTERSINK 80 DEGREE, HEX AND EA 20 00 00
SPLINE SOCKET, STEEL, ZINC PLATED, USED ON END SLIDING DOOR ASSEMBLY.
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. 0-31-26-006/004
1097 39-38-7004 SCREW, HEX HEAD, CHC M3 X 10MM LG, GR  A2-70 SST EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTRO000006386-A



USER-ID : SPT
FILE-ID : ALST2020
PROG-ID : €

REC# STOCK NO  LONG DESCRIPTION

N

E

W

COMMODTITY

Y O RK CITY TRANSTIT AU

MANAGEMENT S

MATERIAL STANDARDS USAGE REPORT

THORTITY

Y STEM

U/M

PAGE
DATE
VERSION

USE PY1

00

00

00

00

00

00

191
03/18/2020

1.01.00

USE YTD

1098 60-42-7694 SOCKET, RELAY, SCREW TERMINAL EA
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000262344-A
1099 60-43-8000 SIGN, INFORMATION, CEILING INTERIOR EA
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT NYCO7-50MA
1100 60-43-8001 VEHICLE MEDIA CONTROLLER EA
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT NYCO7-51MA
1101 60-43-8002 SIGN, INFORMATION, SIDE INTERIOR EA
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT NYCO07-52MA
1102 60-43-8003 PRINTED CIRCUIT BOARD, LED DISPLAY, 80 X 32, USED ON R143 SIDE INTERIOR EA
INFORMATION SIGN
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT DTRO000237343-A
1103 60-43-8008 PRINTED CIRCUIT BOARD, LED DISPLAY, 80 X 32, INCLUDING LIGHT SENSOR, USED ON EA



USER-ID : SPT

FILE-ID

PROG-ID : €

REC#

1104

QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT DTR0000237346-A
PRINTED CIRCUIT BOARD, CONTROLLER, USED ON CEILING INTERIOR INFORMATION SIGN EA
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT DTR0000237339-A
N P ALSTOM TRANSPORTATION INFORMAT MT89-10051PA

QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT DTRO000237330-A
PRINTED CIRCUIT BOARD, CONTROLLER, USED ON SIDE INTERIOR INFORMATION SIGN EA
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT DTR0O000237338-A
PRINTED CIRCUIT BOARD, ECHELON, USED ON CEILING INTERIOR INFORMATION SIGN EA
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT DTRO000237345-A

STOCK NO

60-43-8011

60-43-8012

60-43-8013

60-43-8014

60-43-8031

N EW Y O RK CITY TRANSTIT AUTHORITY

ALST2020

COMMODTITY MANAGEMENT SYSTEM

MATERIAL STANDARDS USAGE REPORT

LONG DESCRIPTION U/M

R143 SIDE INTERIOR INFORMATION SIGN

PCB, POWER SUPPLY, USED ON CEILING INTERIOR INFORMATION SIGN EA

PRINTED CIRCUIT BOARD, CONTROLLER, INTEL MICROPROCESSOR, USED ON R143 EA

VERSION

192

03/18/2020
1.01.00



USER-ID SPT NEW YOREK CITY TRANSTIT AUTHORTITY PAGE 193
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID : € COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00

MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY?2 USE PYl USE YTD
VEHICLE MEDIA CONTROLLER
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT DTR0O000237340-A
1109 60-43-8032 PRINTED CIRCUIT BOARD, CONTROLLER, MICROPROCESSOR, USED ON R143 VEHICLE EA 00 00 00
MEDIA CONTROLLER
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT DTR0O000237341-A
1110 60-43-8033 PRINTED CIRCUIT BOARD, POWER SUPPLY, USED ON R143 VEHICLE MEDIA CONTROLLER EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT DTR0O000237336-A
1111 60-43-8034 PRINTED CIRCUIT BOARD, BACKPLANE, USED ON R143 VEHICLE MEDIA CONTROLLER EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT DTR0000237335-A
1112 60-43-8035 PRINTED CIRCUIT BOARD, COMMUNICATION, ADAPTIVE NETWORK AND ECHELON, USED ON EA 00 00 00
R143 VEHICLE MEDIA CONTROLLER
QOPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT DTR0000237337-A



USER-ID : SPT NEW YORK CITY TRANSIT AUTHORTITY PAGE 194
FILE-ID : ALST2020 DATE : 03/18/2020
PROG-ID : €@ COMMODITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO  LONG DESCRIPTION U/M USE PY2 USE PYl USE YTD
1113 60-43-8053 CEILING INTERIOR INFORMATION SIGN (CIIS) EA 03 01- 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT NYCO7-50MA (P5)
1114 60-50-5200 POWER SUPPLY, USED IN CONJUNCTION WITH POWER AMPLIFIER FOR PUBLIC ADDRESS EA 00 00 00
SYSTEM USED BY CUSTOMER INFORMATION SYSTEM
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. MDUO4PA
1115 60-60-0001 DESTINATION SIGNS, EXTERIOR EA 17 05 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT LAT
1116 60-60-0002 CEILING INTEROIR INFORMATION SIGN EA 01 05 01
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INFORMAT AFF
1117 60-60-1493 DISPLAY, LED, MATRIX 16X16, USED ON STATION SIGNS PART OF CUSTOMER EA 00 00 00

INFORMATION SYSTEM

QPL CODE MFG - NAME
N P ALSTOM TRANSPORTATION INC.

MFG - PART-NO



USER-ID SPT N EW Y O RK CITY TRANSTIT AUTHORTITY PAGE 195
FILE-ID ALST2020 DATE 03/18/2020
PROG-ID © COMMODTITY MANAGEMENT SYSTEM VERSION 1.01.00
MATERIAL STANDARDS USAGE REPORT
REC# STOCK NO LONG DESCRIPTION U/M USE PY2 USE PY1 USE YTD
1118 60-96-5200 POWER SUPPLY, USED IN CONJUNCTION WITH POWER AMPLIFIER FOR PUBLIC ADDRESS EA 00 00 00
SYSTEM USED BY CUSTOMER INFORMATION SYSTEM
QOPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC MDUO4PA
1119 68-68-1108 VENT WINDOW ASSEMBLY COMPLETE WITH GLASS EA 00 00 00
QPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 1-31-37-024
1120 83-60-0021 SENSOR, TEMPERATURE, FOR CAB HEATER EA 00 00 00
QOPL CODE MEFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC DTRO000356113-A
1121 83-60-0095 OUTLET TUBE EA 00 00 00
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC 37011-03511A
1122 98-42-5020 AGATE ASSY (REFURBISHED) R142 PROPULSION CONTROL ELECTRONICS BOX EA 00 00 00
(PCE)
QPL CODE MFG - NAME MFG - PART-NO
N P ALSTOM TRANSPORTATION INC. DTR0000049446-A



TOTAL PROCESSING TIME 00 HRS, 00 MINS.

*xxx FILES USED ****

MMS --> USE YTD

MMS --> USE PY1, USE PY2
CTF ——-> LONG DESCREPTION
VXF --> MFG PART NO
MFG --> MFG NAME
ITEM --> U/M

ALST2020 --> STOCK NO

PROGRAM LOCATED : € IN @ ON @



